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XIl — ACCOUNTANCY

UNIT 1 ACCOUNTS FROM INCOMPLETE RECORDS

Mrvrrrere CHOICE QUESTIONS

[HE CORRECT ANSWER

Incomplete records are generally maintained
by

{a) A company

(b} Government

{c) Small sized sole trader business

(d} Multinational enterprises

| Ans, (¢} Small sized sole trader business)

Statement of affairs is a
{a] Statement of income and expanditure
(b} Statement of assets and liahilities
{c) Summary of cash transactions
{d} Summary of credit transactions
L Ans, (b) Sttement of assets and babilities]

Opening  statement of affairs is  osually
]_lf&pan:d to fud ot the

{a] Capital in the beginning of the year

(b} Capital at the end of the year

{c} Profit made during the year

{d} Lossoccurred during the year

[ Anz {a) Capital in the beginning ol the vear]
The excess of assets over liabilities is

(b) Cash

(d) Profit

[Ans. (o] Canital

{a) Loss
{c) Capital

0.

Which of the following items relating to
bills payable is transferred to total creditors
accounty

(a) Opening balance of bills payable

(b Closing balance of hills payable

(c) Bills payable accepted during the year

(d) Cash paid for bills payable

[Ans. (¢} Bills payable accepted during the

year|

The amount of credit sales can be computed
from
(a] Total deblors account
(b) Total creditors account
(c) Bills receivables account
(d) Bills payable account
| Ans, {a) Total deblors account]

Which one of the following statements is not

true in relation to incomplete records?

fal It s an unscientific method of recording
transactions

(b) Becords ere maintained only for cash and
persomal accounts

{c) It is suitable for all types ol organisations

(d} Tax authorities do not accept
lAms. {c) It is suitable for all types of

Organisations|



8. Whatis the amount of capital of the proprietor,
if his assets are T 85,000 and liabilities are T
21,0007,

(a) ¥ 85000 {b) T 1,06.000
(c) ¥ 21000 {d) T 64,000
[Ans. (d) T 6d,0800]
Hint:

Capital = Assats - Liabilities
=T 85,000 - T 21000 = T 64.000

9. When capital in the beginning is ¥ 10,000,
drawings during the vear is T 6,000, proft
mude during the year is T 2,000 and the
additional capital introduced is T 3,000, find

the amount of capital at the end.

(a) ¥ 9,000 {b) ¥ 11,000
feh T 21,000 (d) T 3,000
[Ans. [a) T 9.04H0]
Hint:
Particulars | =

| Capital at the end 4, (NI
| Add: Drawings 6,000
' | 15,000
| Less: Additional Capital introduced | 3,000

12,0060
| Less: Orpening Capital 10,000
| Profit L

10, Opening balance of debtors: ¥ 30,000, cash
received: T1,00,000, credit sales: T 90,000

closing balance of debtors is

(a) ¥ 30,000 (b) T 1,30,000
(c) ¥ 40,000 (d) T 20,000
[Ans. (d) T 20,044
Hint
Ir Total Dehbtors account Cr
Pancslars | ¥ | Pamedas | T
ToBalincecid | 30,000 | By Cash Alc [Received) | 100000
ToCredit Salet | 90100 | By Balance bid _ M000
| 120000 | ) 000

II. VERY SHORT ANSWER QUESTIONS

1.  What is meant by incomplete records?

Ans, (i) When accounting records are not strictly
maintained according to double entry
system, these records are called as
incomplete accounting records,

Ans.

A,

I11.

Ans.,

A,

it Generally, cash account and the persomnal
accounts of customers and creditors are
maintained fully and other accounts are

miaintained based on necessity.

State the accounts generally maintained by
small sived sole trader when double entry
accounting svstem is not followed.

Incomplete accounting records.

What is a statement of affairs?

A statement of affairs is a statement showing the
balances of assets and liabilities on a particular
date. This method of ascertaining profit is also
called as statement of affairs method or networth
method or capital compardson method.

SHORT ANSWER QUESTIONS

What are the features of incomplete records?,
(i) MNalure:
It is an unscientific and unsystematic way
of recording transactions. Accounting
principles and accounting standards are
not tollowed properly:

(uil ]..1|.|-.||F'|.||||i|'ur|||rl'!.:

There 15 no uniformity in recording
the tranmsactions among  different
organisations. [hifferent  organisations
record their transactions according to
their needs and conveniences,

Suitability:

Only the business concerns which have
no legal obligation to maintain books of
accounts under double entry systermn may
maintain incomplete records. Hence, it
may be maintained by small sived =ole
traders and partnership firms,

{iin)

What are the limitations of incomplete
records?

(i) Lack of proper maintemance of records:
It is an unscientific and unsystematic way
of maintaining records. Real and nominal
accounts are not maintained properly.

(i) Difheulty in preparing trial balance:

As accounts are not maintained for
all items, the accounting records are
incomplete. Hence, trial balance cannot be
prepared to test the arithmetical accuracy

of the accounts.




fiii)

”ilrh..l:“!. in ascerbaning lre |=|'-.|r-lt.||:li:|iif| af the business:

Proht is found out based on available information end estimates. Hence, 1t 15 difficult o ascertain
true profit as the trading and profit and loss account cannot be prepared with accuracy:

{iv]

Errors and frauds cannol be delecied easily:

As only partial records are avatlable, it may not be possible to have internal checks in maintaining
accounts to detect errors and franda.

4.  State the differences between double entry system and incomplete records.

Ans.
| 5. No. | Basis of distinction | Double entry system Iummplﬂe- records
1. | Recording of transaction | Both debit and credit aspects | Debit and credit aspects of
| of all the transactions are all the transactions are not
I | s} mfv:rd:ai - recorded completely. _
2 Iy'p-r: of accounts maintained I"emumal real and nominal | Inge genem] Only personal and |
| ageounts are maintained fully | cash accounts are maintained
fully. Feal and nominal
accounts are not maintained
. r fully.
3. | Preparation of trial balance | Trial balance can be prepared | Trial halance cannot he
| to check the arithmetical prepared to check arithmetic
| accuracy of the entries made | accuracy of entries made in
1 1.11 lhl: bunks nfim:uums ! ﬂlr b-ncrks clf accounts,
4. Suitability It i suitable for all types nf It may be suitahle for ima.ll
| organisations sized sole traders and
| i, paﬂ:ntrshtp ﬁrm&
L. Fl:nzl.l::l'lnlllt']ir —l It ks r-eiiable Ir 15 not n:lublt

4. btut-e the proced urefq:rr calculating profit or loss throngh statement nf atfairs.

Ans,
i1

taking the opening balances of assets and liabilities.
(2] Ascertain the closing capital by preparing a statement of affairs at the end of the accounting period
after making all adjustments such es depreciation, bad debts, outstanding and prepaid expenses,

outstanding income, interest on capital, interest on drawings, etc.
Add the amount of drawings (both in cash and/in kind) to the closing capital.
Deduct the amount of additional capital introduced, to get adjusted closing capital.

{3
{4)

Eollowing are the steps to be fallowed under the statement of afairs method to find out the profit or loss.
Ascertain the opening capital by preparing a statement of affairs at the beginning of the year by

{51 Ascertain profit or loss by sultracting opening capital from the adjusted closing capital.
a) [Ifadjusted closing capital is more than the opening capital, it denotes profit

b Ifadjsted closing capital is lesser than the opening capital, it denotes loss
Following format 15 used to find out the profit or loss:



Statement of Profit or loss for the year ended ..........

Particulars k4

Capital at the end of the year XXXX
Add: Drawings during the year XXX

3OOXX
Less: Additional capital introduced during the year XXXX
Adjusted closing capital XXXX
Less: Opening Capital b 0.00.¢
Profit or loss for the year XXXX

5. Differentiate between statement of affairs and balance sheet.

Ans.
S. No. Basis of distinction Statement of affairs Balance Sheet
1. | Objective Statement of affairs is Balance sheet is prepared
prepared to find out the to ascertain the financial
capital of the business. position of the business.
2. | Accounting system Statement of affairs is Balance sheet is prepared
prepared when double entry | when accounts are
system is not strictly followed. | maintained under double
entry system.
3. | Basis of preparation It is not fully based on ledger | It is prepared exclusively on
balances. the basis of ledger balances.
4. | Reliability It is not reliable as it is based | It is reliable as it prepared
on incomplete records. under double entry system.
5. | Missing items It is difficult to trace the items | Since both the aspects of
omitted as complete records | all transactions are duly
are not maintained. recorded, items omitted can
be traced easily.

6. How is the amount of credit sale ascertained from incomplete records?

Ans. Total sales are calculated by adding cash and credit sales. Cash sales are given in cash book. For ascertaining
the amount of credit sales, the total debtors account should be prepared. The specimen of total debtors

account is given below.

Dr Total debtors account Cr
Particulars £ Particulars -
To Balace b/d (Op. Bal.) xxxx | By Cash received XXXX
To Credit sales (Bal. Fi.) xxxx | By Discount allowed XKXX
By Sales returns XXXX
By balance ¢/d (Clos. Bal) XXXX
XXXX XXXX




1V EXERCISES

1. From the following particolars ascertain profit or loss:

Particulars T
Capital at the beginning of the year (1% April, 2018) 500,000
| Capital at the end of the year (31* March, 2019) B.50,000
| Additional capital introduced during the year 120,000
D‘IH'H.']J].E-’S during the year 70,000
S.::-Iunm! .

Statement of profil or loss for the vear ending 317 March 2019

| Particulars 1
Closing capital (as on 31.03.2019) 8,530,000
{ Add : Drawings during the year 70, 000
9.210,000
P Less: Additional capital introduced during the year 1205000
I Adjusted closing capital 8.00,000
Less: Opening capital (as on 1 April, 2018) 500,000

Profit far the year ,00,000 |
2. From the following particalars ascertain profit or loss.

) Particulars T
. Capital as on 1" January 2018 220,10
C:al:rltal as on 3™ December 2018 LB, 000
: Additional capital introduced during the year 40,0410
! Dirawings made during the year 50,000

Soluiiem ;

Sratement of Tl'rllﬁt o hiess for the '|.|..J.r1.n|.|:|n.|.. LR F h.i.‘l.n'l:u.r Hilk

Particulars T a

Closing capital as on 31" December 2018 ].:E[I.Dﬂl'.l'
Add : Drawings during the year e aab

230,000
Less: Additional capital introduced during the year 40,000
Adjusted closing capital 100,000
Less: Opening capital as on 1 January, 2018 2,320,000
Loss for the year 30,000




16. From the following details youare required to calculate credit sales and credit purchases by preparing

total debtors account, total creditors account, bills receivable account and bhills payable account.

Kalurion :

_ Perticulars 2 Particulars ?
Balances as on 1° April 2018 Balances as on 31™ March 2019
Sundry debtors 2.40,000 | Sundry debtors 2,20,000
Rills receivable 30,000 | Sundry creditors 1,50,000
Sundry creditors 1,20,000 | Bills receivable 80000
Bills payahble 10,000 | Bills payable 20,00
Oriher inforimstion: T T
Cash received from debtors 6,080,000 | Paymients against bill payable 30,000
Discount allowed to customers 25,000 | Cash received for bills receivable R
Cash paid to creditors 3,20,000 | Bills receivable dishonoured 4,000
Diiscount allowed by suppliers 10,000 | Bad debts y 16,000
D Bills receivable account Cr
Particulars T Particulars 4
To Ralance b/d 30,000 | By Cash Gl 00
To Debtors 42,000 | By Debtors 4,000
{ Bills received - balancing | (Bills receivable dishonoured)
figure) | By Balance c/d 8,000
72,000 2,000
|17 Toral Debtors aceount Cr
Particulars T Particulars C
To Balance b/d 2,420,000 | By Cash recetved G, 00, DR
To Bills receivable 4,000 | By Discount allowed 25,000
{dishonored) | By Bad debts L, (0
To Sales (credit) 6.39.000 | By Bills receivable 42,000
(balancing figure) (bills received)
By Balance </d 220,000
i Ql%ﬂﬂﬂ _9,“310?5_]_
D Bills pavable aceount Cr
Particulars T Particulars T
To Cash (Bills paid) 30.000 | By Balance b/d 11,004
To Balance ¢/d 20,000 | By Sundry creditors 40,000
(Bills accepted balancing hgure)
50,000 50,000




Dr Total Creditors account Cr
Particulars X Particulars 4

To Cash (paid) 3,20,000 | By Balance b/d 1,20,000
To Discount received 10,000 | By purchases (credit) 4,00,000
To Bills payable 40,000 | (balancing figure)
(Bills accepted)
To Balance c/d 1,50,000

5,20,000 5,20,000

17. From the following details of Rakesh, prepare Trading and Profit and Loss account for the year end

31 March, 2019 and a Balance Sheet as on that date.

; 31.3.2018 | 31.3.2019
Particulars
7 T
Stock of goods 2,20,000 1,60,000
Debtors 5,30,000 6,40,000
Cash at bank 60,000 10,000
Machinery | 80,000 80,000
Sundry creditors 3,70,000 4,20,000
Other details :

Particulars 4 Particulars T
Rent paid 1,20,000 | Cash received from debtors 12,50,000
Discount received 35,000 | Drawings 1,00,000
Discount allowed 25,000 | Cash sales 20,000
Cash paid to creditors 11,00,000 | Capital as on 1.4.2018 5,20,000

Solution :

Dr Total Debtors account Cr

Particulars T Particulars E
To Balance b/d 5,30,000 | By Cash received 12,50,000
To Credit sales 13,85.000 | By Discounts allowed 25,000
(balancing figure) By Balance c/d 6,40,000

19,15,000 19,15,000

Dr Total Creditors account Cr

Particulars T Particulars 4
To Cash (paid) 11,00,000 | By Balance b/d 3,70,000
To Discount received 35,000 | By Credit purchases 11,85,000
To Balance c/d 4,20,000 | (balancing figure)

15,55,000 15,55,000




In the Books of Rakash Trading and Profit and loss account

for the yvear ended 31* March 2019

Dr. B4 A
Particulars Ed Particulars ¥
To Opening stock 2,20,000 | By Sales
To Purchases 11,85,000 Cash sales 20,000
To Gross profit c/d 1,60,000 Credit sales 13,85,000 14,05,000
By Closing stock 1,60,000
15,65,000 15,65,000
To Rent paid 1,20,000 | By Gross Profit b/d 1,60,000
To Discount allowed 25,000 | By Discount received 35,000
To Net profit (transferred | 50,000
to capital account)
1,95,000 1,95,000
Balance sheet as on 31°t March 2019
Liabilities ¥ 3§ Assets T
Sundry creditors 4,20,000 | Debtors 6,40,000
Capital 5,20,000 Cash at bank 10,000
Add : Net profit 50,000 Machinery 80,000
5,70,000 Closing stock 1,60,000
Less : Drawi 100,000
e 4.70,000
8,90,000 8,90,000

18. Mary does not keep her books under double entry system. From the following details prepare trading
and profit and loss account for the year ending 31 March, 2019 and a balance sheet as on that date.

Dr Cash Book Cr
Particulars £ Particulars ¥
To Balance b/d 1,20,000 | By Purchases 1,50,000
To Sales 3,60,000 | By Creditors 2,50,000
To Debtors 3,40,000 | By Wages 70,000
By Sundry expenses 1,27,000
By Balance c/d 2,23,000
8,20,000 8,20,000
Other information :
. 1.4.2018 31.3.2019
Particulars
T T
Stock of goods 1,10,000 1,80,000
Sundry Debtors 1,30,000 7
Sundry Creditors 1,60,000 90,000
Furniture and fittings 80,000 80,000
Additional information : T
Credit purchases 1,80,000
Credit sales 2,90,000
Opening capital 2,80,000

Depreciate furniture and fittings by 10% p.a



Solution :

In the books of Mary
Total Debtors account

Dr. Cr.
Particulars T Particulars 3
To Balance b/d 1,30,000 | By Cash (received) 3,40,000
To Sales (Credit) 2,90,000 | By Balance c/d 80,000
(balancing figure)
4,20,000 4,20,000
To Balance b/d 80,000
Trading and Profit and loss account for the year ended 31% March 2019
Dr. B
Particulars T T Particulars X 4
To Opening stock 1,10,000 | By Sales
To Purchases Cash 3,60,000
Cash 1,50,000 Credit 2,90,000 6,50,000
Credit 1,80,000 3,30,000 | By Closing stock 1,80,000
To Wages 70,000
To Gross profit c/d 3,20.,000
8,30,000 8,30,000
To Sundry expenses 1,27,000 | By Gross profits b/d 3,20,000
To Depreciation on
machinery 10% 8,000
To Net profit transfered 1,85,000
to capital a/c
3,20,000 3,20,000
Balance sheet as on 31* March 2019
Liabilities < 4 Assets L3 \
Capital 2,80,000 Cash 2,23,000
Add : Net profit 1,85,000 | 4,65,000 | Stock of goods 1,80,000
Debtors 80,000
Creditors 90,000 | Furniture and fittings 80,000
Less : Depreciation 8,000 72,000
5,55,000 5,55,000

19. Arun carries on hardware business and does not keep his books on double entry basis. The following
particulars have been extracted from his books:

Particulars 31.12.2017 | 31.12.2018

4 4
Land and building 2,40,000 2,40,000
Stock-in-trade 1,20,000 1,70,000
Debtors 40,000 51,500
Creditors 50,000 45,000
Cash at bank 30,000 53,000




Other information for the year ending 31.12.2018 showed the following:

T
Wages 65,000
Carriage outwards 7,500
Sundry expense 28,000
Cash paid to creditors 6,00,000
Drawings 10,000

Total sales during the year were ¥7,70,000. Purchases returns during the vyear wer
30,000 and sales returns were 25,000. Depreciate land and buildings by 5%. Provid
71,500 for doubtful debts. Prepare trading and profit and loss account for the year ending 31
December, 2018 and a balance sheet as on that date.

Solution : In the books of Arun
Statement of affairs as on 1" December 2018
Liabilities T Assets i 4
Creditors 50,000 |Land and Building 2.,40,000
Opening capital 3.80.000 |Stockin trade 1,20,000
(balancing figure) Debtors 40,000
Cash at bank 30,000
4,30,000 430,000
Dr Total Creditors account Cr
Particulars 4 Particulars 4
To Cash (paid) 6,00,000 | By Balance b/d 50,000
To Purchase returns 30,000 | By Credit purchases 6.,25,000
To Balance c/d 45,000 | (balancing figure)
6,75,000 6,75,000
Trading and Profit and loss account for the year ended 31°* December 2018
Dr. Cr.
Particulars T ¥ Particulars ¥ T
To Opening stock 1,20,000 | By sales 7.70,000
To Purchases credit 6,25,000 Less : Sales returns 25,000 7.45,000
Less : Purchase returns 30,000 5,95,000 | By Closing stock 1,70,000
To Wages 65,000
To Gross profit c/d 1,35,000
9.15,000 9,15,000
To Carriage outwards 7,500 | By Gross profits ¢/d 1,35,000
To Sundry expenses 28,000
To Depreciation on
land and building @ 5% 12,000
To Provision for
doubtful debts 1,500
To Net profit transfered 86.000
to capital account
1,35,000 1,35,000

10



Balance sheet as on 31® December 2018

Liabilities T T Assets T T
Capital 3,380,000 Land and buildings 2,40,000
Add : Net profit 86,000 Less : Depreciation 5% 12,000 | 2,28,000
4,66,000 Closing stock 1,70,000
Less : Drawings 10,000 | 4.56,000 | Debtors 51,500
Less : Provision for debtors 1,500 50,000
Craditeis 45,000 | Cash at bank 53,000
5,01,000 5,01,000
20. Selvam does not keep his books under double entry system. From the following information prepare
trading and P&L A/cand Balance Sheet as on 31-12-2018
Particalans 1.1.2018 | 31.12.2018
T i
Machinery 60,000 60,000
Cash at bank 25,000 33,000
Sundry debtors 70,000 1,00,000
Stock 45,000 22,000
Bills receivable 20,000 38,000
Bank loan 45,000 45,000
Sundry creditors 25,000 21,000
T T
Cash sales 20,000 Credit sales 1,80,000
Cash purchases 8,000 Credit purchases 52,000
Wages 6,000 salaries 23,500
Advertisement 7,000 Interest on bank loan 4,500
Drawings 60,000 Additional capital 21,000
Adjustments:

Write off depreciation of 10% on machinery. Create a reserve of 1% on debtors for doubtful debts.
Solution : In the books of selvam

Statement of affairs as on 1 January 2018

Liabilities T Assets 4
Bank Loan 45,000 | Machinery 60,000
Sundry creditors 25,000 | Cash at bank 25,000
Opening capital 1,50,000 | Sundry debtors 70,000
(Balancing figure) Stock 45,000

Bills receivable 20,000
2,20,000 2,20,000




Trading and Profit and loss account for the year ended 317 December 2018

Dr. Cr.
Particulars ¥ Ed Particulars ¥ ¥
To Opening stock 45,000 | By Sales
To Purchase Cash 20,000
Cash 8,000 Credit 1,80,000 2,00,000
Credit 52,000 60,000 | By Closing stock 22,000
To Wages 6,000
To Gross profit c/d 1,11.000
2,22,000 2,22,000
To Advertisement 7,000 | By Gross profit b/d 1,11,000
To Salaries 23,500
To Depreciation 10% 6,000
To Reserve on debtors 1 % 1,000
To Interest on bank loan 4,500
To Net profit transfered
to capital a/c 69,000
1,11,000 1,11,000

Balance sheet as on 31™ December 2018

Liabilities 4 T Assets T T
Bank loan 45,000 | Machinery 60,000
Sundry creditors 21,000 | Less : Depreciation 10% 6,000 54,000
Capital 1,50,000 Cash at bank 33,000
Add : Net profit 69,000 Sundry debtors 1,00,000
2,19,000 Less : Reserve for doubtful 99,000
Add : Additional debts 1,000
capital 21,000 Closing stock 22,000
i i 38,000
2.40,000 Bills receivable
Less : Drawings 60,000 | 1,80,000
2.46,000 2,46,000
FILL IN THE MISSING INFORMATION TeExT Book No. 38
Closing capital | Drawings Additional capital Opening capital | Profit / Loss
T 2 4 T 4
1,00,000 40,000 20,000 90,000 ?
T 30,000 40,000 80,000 20,000
70,000 ? 30,000 40,000 10,000
60,000 20,000 ? 50,000 ~10,000
2,00,000 30,000 10,000 ? 1,20,000

12



Solution :

Closing capital | Drawings Additional capital Opening capital | Profit / Loss
T T T T
1,00,000 40,000 20,000 90,000 30,000
1,10,000 30,000 40,000 80,000 20,000
70,000 10,000 30,000 40,000 10,000
60,000 20,000 40,000 50,000 -10,000
2,00,000 30,000 10,000 1,00.000 1,20,000

13



UNIT 2 ACCOUNTS OF NOT-FOR-PROFIT ORGANISATION

MULTIFLE CHOICE QUESTIONS

{_HOOSE THE CORRECT ANSWER

Receipds and payments account is a
{a) Mominal Afc

{b) Real Afc

(] Pemsonal Afc

¥ s L
I LI 'h-' n. |."| L N

Receipts and  payments account records
receipts and payments of

{a} Bevenue nature only

(b} Capital nature only

{c} Both revenue and capital nature

(d} None of the above
[Ans. (c) Both revenue and capital nature|

Balance of receipts and payments account

indicates the

(a) Lossincurred during the period

(b) Excess of income over expenditure of the
period

(c) Total cash payments during the period

(d} Cash and bank balance as on the date

| Ans, () Cash and bank balance
as on the date

Income and expenditure account isa
[a) Mominal Afc
(b) Heal Alc
[c) Persomal Afc
[d) Representative personal account
[ Ans (a) Nomioal Afc)

14



10.

Income and Expenditure Account is prepared
to find out

(a) Profit or loss
(b) Cash and bank balance
(c) Surplus or deficit
(d) Financial position
[Ans. (c) Surplus or deficit]

Which of the following should not be recorded
in the income and expenditure account?

(a) Sale of old news papers
(b) Loss on sale of asset
(c) Honorarium paid to the secretary

(d) Sale proceeds of furniture
[Ans. (d) Sale proceeds of furniture|

Subscription due but not received for the
current year is

(a) An asset
(b) A liability
(c) An expense

(d) An item tobeignored [Ans.(a)An asset]

Legacyisa

(a) Revenue expenditure
(b) Capital expenditure
(c) Revenue receipt

(d) Capital receipt [Ans. (d) Capital receipt]

Donations received for a specific purpose is
(a) Revenue receipt
(b) Capital receipt
(c) Revenue expenditure
(d) Capital expenditure
[Ans. (b) Capital receipt]

There are 500 members in a club each paying
T 100 as annual subscription. Subscription due
but not received for the current year is ¥ 200;
Subscription received in advance is ¥ 300. Find
out the amount of subscription to be shown in
the income and expenditure account.
(a) 50,000 (b) 50,200
(c) T49,900 (d) 49,800

[Ans. (a) T 50,000]

11

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

VERY SHORT ANSWER QUESTIONS

State the of
organisation.

(i)

meaning not-for-profit

Some organisations are established for
the purpose of rendering services to the
public without any profit motive.

(ii) They may be created for the promotion of
art, culture, education, sports, etc. These
organisations are called not—for—profit
organisation.

Charitable  institutions, educational
institutions, cultural societies, sports
and recreation clubs, hospitals, libraries
and literary associations are some of the
examples of not—for—profit organisations.

(iii)

What is receipts and payments account?

(i) Receipts and Payments account is a
summary of cash and bank transactions of
not—for-profit organisations prepared at
the end of each financial year.

It is a real account in nature. The receipts
and payments account begins with the
opening balances of cash and bank and
ends with closing balances of cash and

bank.

(ii)

What is legacy?

A gift made to a not—for—profit organisation by a
will, is called legacy. It is a capital receipt.

Write a short note on life membership fees.
Amount received towards life membership fee

from members is a capital receipt as it is non-
recurring in nature.

Give four examples for capital receipts of
not-for-profit organisation.

(1)
(i)

(iii)

Life membership fee
Endowment fund
Sale of fixed assets

(iv) Specific donations.

Give four examples for revenue receipts of
not—for-profit organisation.

(i)
(ii)

(iii)

Interest on investment
Interest on fixed deposit
Sale of (old) sports materials

(iv) Sale of (old) news papers.

15



IIl SHORT ANSWER QUESTIONS

1.  What is income and expenditure account?

Ans, (1)

[ii}

Income and expenditure account is a
summary of income and expenditure of
a not-for-profit organisation prepared at
the end of an accounting vear

It is prepared to find out the surplus or
deficit pertaining to a particular year.

[ i1l

{iv]

It is a nominal account in nature in which
items of revenue receipts and revenue
expenditure, relating to the current year
alone are recorded.

It is just like preparing a proAt and loss
account. In this account, incomes are
shown on the credit side and expenses are
shovwn on the debai side.

Apart from cash items. non-cash items
such as income accrued but not received,
loss or gain on sale of fved assets,

depreciation, etc. will also he recorded.

2. State the differences between Receipts and Payments Account and Income and Expenditure Account.

Ans,

SN0

Receipts and Payments Account

Income and Expenditure Account

1.

Mature of accont

It is a real account. Cash receipts
are recorded on the debit side and
cash payments are recorded on the
credit side.

It is a nominal account. Expenses
are recorded on the debit side and

incomes are recorded on the credil

side.

Basis of accounting

ﬁpcﬂ.i.ﬂg and
dosing balance

It is based on cash system of
accounting. Non-cash items gre not
recorded

T commences with an upa-.-niug-

balance of cash and bank and ends
with closing balance of cash and
bank.

2| er e

It is based on accrual system of
accounting. Mon-cash items like
outstanding expenses, depreciation,
etc. are also recorded.

R e

There is no opening balance, It ends
with surplus or deficit.

Mature of items

It contains actual reccipts and
payments irrespective of revenue or
capital items in nature.

It contains ocoly revenue items,
that is, only revenue expenses and
ravenue inconmas.

Period

All cash receipts and payments
made during the year pertaining to
the past period, current period and
subsequent perind are recorded.

It comtains only the items relating
to the current pl.':ricuﬂ_

4.  How annual subscription is dealt with in the final accounts of not—for-profit organisation?

Ans. (a2

Treatment in income and Expenditure account :

When subscription received for the current year, previous years and subsequent period are given scparately,
subscription received for the current year will be shown on the credit side of Income and Expenditure

Account after making the adjustments given below:
(il Subscription outstanding for the current year is to be added.

{10}

added.

Subsacription received in advance in the previous year which is meant for the current year, ia to be
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v

When total subscription received during the
current year is given, that total subscriptions
received during the current year will be shown
on the credit side of Income and Expenditure
Account after making the following adjustments:

(i)  Subscription outstanding in the previous
year which is received in the current
year will be subtracted. Subscription
outstanding for the current year is added.

(ii)  Subscriptions received in advance in
the previous year which is meant for the
current year, is added and subscriptions
received in advance in the current year
which is meant for the subsequent year
must be subtracted.

Treatment in Balance Sheet

(i)  Subscriptions outstanding for the
current year and still outstanding
for the previous year will be shown
on the assets side of the balance
sheet.

Subscriptions received in advance
in the current year will be shown

on the liabilities side of the balance
sheet.

(i)

How the following items are dealt with in the
final accounts of not-for-profit organisation?

a)  Sale of sports materials
b)  Life membership fees
c) Tournament fund

EXERCISES

Ans. (a)
(i)

(ii)

(iii)

(iv)

(c)

Sale of sports materials :

Consumable items such as sports
medicines, etc.,
consumed during the year will appear on
the debit side of income and expenditure

account.

materials, stationery,

Consumption = Opening stock +
Purchases during the current year -

Closing stock

Closing stock will appear on the assets
side of the balance sheet as at the end of
the year.

If there is any sale of old sports materials,
etc., that will be shown on the credit side
of income and expenditure account or can
be subtracted from the respective items
consumed on the debit side of income and
expenditure account.

Life membership fees : Amount received
towards life membership fee from
members is a capital receipt as it is non-
recurring in nature.

Tournament fund : If there are any

specific funds such as tournament fund,
prize fund, etc., these funds should be
shown on the liabilities side of the balance
sheet separately.

From the information given below, prepare Receipts and Payments account of Kurunji Sports Club

for the year ended 31* December, 2018.

Particulars T Particulars 4
Cash in hand (1.1.2018) 4,000 | Paid for printing charges 2,500
Salaries paid 3,000 | Lockers rent received 1,000
Life membership fees received 10,000 | Tournament receipts 14,000
Subscription received 15,000 | Tournament expenses 10,500
Rent received 2,000 |Investments purchased 25,000

17



Solurion ; In the books of kurunji sports club

Receipts and Payvments Acconnt for the vear ended 317 December 2018

Dr. Cr.
. __Ii_.mipts T || Pa}'mmts _T_ -
To Balance b/d By Salaries paid 3.000
Cash in hand 4,00} | By Printing charges paid 2,500
To Life membership fees received 10,000 By Tournament expenses 10 500
To Subscription received 15,000 | By Investment purchased 25,000
To Rent received 2,000 By Balamce ¢/d
To Lockers rent received 1,000 Cash in hand 5000 |
To Tournament receipts 14,000 _ |
| 46,000 | 46,000 |

2. From the information given below, prepare Receipts and Payments account of Coimbatore Cricket
Club for the year ending 31* March, 2019,

Particulars T E Particulars T
Bank overdraft (1 4. 2018} 6,000 | Honorarium paid 2 R00
Cash in hand (1.4.2018) L.000 | Water and electricity charges 700
Wages paid for ground 2,000 | Match expenses 2500
maintenance | Sports material purchased 1,900
Subscription received: Match fund receipts 5,200
Previous year 500 Legacies received 2,000
Current year 9,600 Cash balance (31.03.2019) 300
Subsequent year 400 | 10,500 | Donation received for pavilion 2,000
Wages vet to be paid 2,200
Interest on loan paid 2,000 |
Solution : In the books of Coimbatore Cricket Clob
Recelpls and Pavments Aecount for the vear ended 3151 Mareh 2019
Dr. Cr.
Receipts T T Payments T
| To Balance b/d | By Balance bid
Cash in hand 1.000 Bank overdrafi 6,000
To Subscription received: By Wages paid 2,004
Previous year =00 | By Interest on loan 2,000
Current year #6000 | By Honerarium paid 2,800
Subsequent year 400 | 10,500 | By Water and electricity charpes 700
By Match expenses 2,600
By Sports material purchased 1,900
To Match fund receipts 5,200 | By Balance c/d
To Legacies received 2,000 Cash in hand 300
To Donation received 2,000 Cash at bank 2,400
20,700 20,700

[Hint : Wages yet to be paid 15 o non cash item. Hence it 1s excluded in receipts and payments account|
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UNIT 3 ACCOUNTS OF PARTNERSHIP FIRMS — FUNDAMENTALS

I

MuLripLE CHOICE QUESTIONS

CHOOSE THE CORRECT ANSWER

1.

In the absence of a partnership deed, profits of

the firm will be shared by the partners in

(a) Equal ratio (b) Capital ratio

(c) Both (a) and (b) (d) None of these
[Ans. (a) Equal ratio]

In the absence of an agreement among the
partners, interest on capital is

(a) Not allowed
(b) Allowed at bank rate
(c) Allowed @ 5% per annum
(d) Allowed @ 6% per annum
[Ans. (a) Not allowed|

As per the Indian Partnership Act, 1932, the
rate of interest allowed on loans advanced by
partners is

(a) 8% per annum (b) 12% per annum

(c) 5% per annum (d) 6% per annum

[Ans. (d) 6% per annum]

Which of the following is shown in Profit and
loss appropriation account?

(a) Office expenses
(b) Salary of staff
(c) Partners salary
(d) Interest on bank loan
[Ans. (c) Partners’ salary]
When fixed capital method is adopted by a

partnership firm, which of the following items
will appear in capital account?

(a) Additional capital introduced
(b) Interest on capital
(c) Interest on drawings
(d) Share of profit
|Ans. (a) Additional capital introduced]

When a partner withdraws regularly a fixed
sum of money at the middle of every month,
period for which interest is to be calculated on
the drawings on an average is
(a) 5.5 months (b) 6 months
(c) 12 months (d) 6.5 months

|Ans. (b) 6 months]
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7.  Which of the following is the incorrect pair? | Hinr : Commission as a percentage of net profit after
(a) | Interest on - | Debited to capatal charging siich o salc:tn )
drawings scat = Net profit before commission
(b) | Interest on - | Credited to capital . __7oof commission
capital account 100+ % of commission
(c) | Interest on - | Debited to capital 5 10,500 x5
loan account =¥ 10,500 = =
100 +5 105
(d) | Share of profit |- | Credited to capital 00
account B
[Ans. (c) Interest on loan - Debited to capital II  VERY SHORT ANSWER QUESTIONS
account] 1. Define partnership.
8.  In the absence of an agreement, partners are | A;s. According to section 4 of the Indian partnership
entitled to Act, 1932, partnership is defined as “the relation
(a) Salary between persons who gave agreed to share the
(b) Commission profits of a business carried on by all or any of
(c) Interest on loan them acting for all”
(d) Interest on capital 2.  What is a partnership deed?
1 [Ans. (c) Interest on loan] | 4,,¢ Partnership deed is a document in writing that
9.  Pick the odd one out contains the terms of the agreement among the
(a) Partners share profits and losses equally partners. It is not compulsory for a partnership
(b) Interest on partners capital is allowed at to have a partnership deed as per the Indian
7% per annum Partnership Act, 1932
(;} Eﬂ salary ml. rem;meratlnn e a.lllcrwai-.ld g 3.  What is meant by fixed capital method?
) Buterest om hyen fuons prchsrs Une IDWERES Ans. (i)  Under this method, two accounts are
6% per annum. S : :
2 L . maintained for each partner viz. a) Capital
[Ans. (b) Interest on partners’ capital is
a account and b) current account
allowed at 7% per annum] i . ) v :
(ii)  The transactions relating to initial capital
10. Profit after interest on drawings, interest on introduced, additional capital introduced
capital and remuneration is ¥10,500. Geetha, and capital permanently withdrawn are
a partner, is entitled to receive commission entered in the capital account and all other
@ 5% on profits after charging such transactions are recorded in the current
commission. account.
T < g 4. What is the journal entry to be passed for
(a) 250 (b) 2150 providing interest on capital to a partner?
(c) %550 (d) %500 i Ans. Following are the journal entries to be made in
[Ans. (d) T500] the books of the partnership firm.
a. For providing interest on capital :
Date Particulars L.F D';hlt Cr;dtt
Interest on capital A/c Dr XXXX
To partner’s capital / currentA/c XXX
Note:

= Interest on capital is due to the partners from the firm hence partner’s capital/current account
1s credited and interest on capital account 1s debited.
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3.

Ans.

111
1.

Ans,

3.
Ans.

b. For closing inferest on capital account :

Date Particulars L.F D;Im Cr;d.rt
Profit and loss appropriation A/c Dr XXXX
To Interest on Capital A/c XXXX
Why is Profit and loss appropriation account (2)  There should be an agreement among the
prepared? persons to share the profit or loss of the
(i) The profit and loss appropriation account business.
is an extension of profit and loss account (3) Theagreement must be carry on a business
prepared for the purpose of adjusting and to share the profits of the business.
the transactions relating to amounts due (4)  The business may be carried on by all the
to and amount due from partners. It is a partners or any of them acting for all.
nominal account in nature . ]
(i) The balsnce: being the probe or s is 2.  State any six contents of a partnership deed.
Ans. (1) Name of the firm and nature and place of

transferred to the partner’s capital or
current account in the profit sharing ratio.

SHORT ANSWER QUESTIONS

State the features of partnership.

Following are the essential features of partnership
(1)  Partnership is an association of two or
more persons. The maximum number of

partners is limited to 50.

business.
(2) Date of commencement and duration of
business
Names and addresses of all partners
Capital contributed by each partner
Profit sharing ratio

Rate of interest to be allowed on capital

State the differences between fixed capital method and fluctuating capital method.

Basis of destination

Fixed capital method

Fluctuating capitals method

1.Number of accounts

current account.

Two accounts are maintained for each
partner, that is, capital account and

Only one account, that is, capital
account is maintained for each
partner.

2.Change in capital The amount of capital normally The amount of capital changes from
remains unchanged except when period to period.
additional capital is introduced or
capital is withdrawn permanently

3.Closing balance Capital account always shows a credit | Capital account generally shows
balance credit balance. It may also show a

debit balance.
4 Adjustments All adjustments relating to interest on | All adjustments relating to interest

capital, interest on drawings, salary or
commission, share of profit or loss are
done in current account

on capital, interest on drawings,
salary or commission, share of
profit or loss are done in the capital
account
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4.  Write a brief note on the applications of the
provisions of the Indian Partnership Act, 1932
in the absence of partnership deed.
Ans, If there is no partnership deed or when there is
no express statement in the partnership deed,
then the following provisions of the act will apply
(1) Remuperation o partmers:
No salary or remuneration is allowed to
any partner (Section 13(a))

(i) Profit sharing ratio:
Profits and losses are to be shared by the
partners equally [section 13(b)]

(it} Inlerest on capital:
Mo interest is allowed on the capital, where
a partner is entitled to interest on capital
contributed as per partnership deed, such
interest on capital will be payable only out
of profits. [section 13(c)]

I_i".l lanteresl ||:|'.'|||5-. i lvarmcesl l13. |1.|.1'I:14'r'-1
ter the firm:
Interest on loan is to be allowed at the rate
of 6 per cent annum. [section 13{d}]

(v} Interest on drawlings:
Mo intarest is charged on the drawings of
the partners.

3. Jayaraman is a partner who withdrew 10,000
regularly in the middle of every month.
Interest is charged on the drawings at 6% per
annum. Calculate interest on drawings for the
yvear ended 31" December, 2018,

Kolurdon »

If Drawings are made in the middle of every
month :

Average perind = &
Interest on drawings = Total amount of drawings
¥ Hate of intersst x M

& ]
=T10,000 x e

12
=¥ 300

v
1.

Ans,

EXERCISES

Akash, Bala, Chandru and Daniel are partners
in a firm. There is no partnership deed. How
will you deal with the following?

(i} Akash has  contributed  maximum
capital. He demands interest on capital
at 10% per annum.

Bala has withdrawn ¥3,000 per month.
Other partners ask Bala to pay interest
on drawings @ 8% per annum (o the
firm. But, Bala did not agree to it.
Akash demands the profit to be shared
in the capital ratio. But, others do not
agree,

Duniel demands salary al the rate of
710,000 per month as he spends full time
for the business.

Loan advanced by Chandru to the firm
is 50,000, He demands interest on loan
i@ 12% per annum.

Simce there is no partnership deed, provisions of
the Indian partnershap Act, 1932 will apply.

(i)

(i)

(iki)

{iv)

v

No interest on capital is payable to any
partner. Therefore Akash is entitled to the
inlerest in capital.

No interest is chargeable on drawings
made by the partner. Therefore, Bala need
not pay interest on drawings.

Profits should be distributed equally.

No remuneration is payable to any partner.
Hence Dhaniel is not entitled to salary.

{i)

(i)

Interest on loan is payable at 6% per
annum of T 50,000,
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UNIT 4 GOODWILL IN PARTNERSHIP ACCOUNTS

I

MurtipLE CHOICE QUESTIONS

CHOOSE THE CORRECT ANSWER

1.

Which of the following statements is true?
(a) Goodwill is an intangible asset
(b) Goodwill is a current asset
(c¢) Goodwill is a fictitious asset
(d) Goodwill cannot be acquired
[Ans. (a) Goodwill is an intangible asset]

Super profit is the difference between

(a) Capital employed and average profit

(b) Assets and liabilities

(c) Average profit and normal profit

(d) Current year's profit and average profit
[Ans. (c) Average profit and normal profit]

The average rate of return of similar concerns
is considered as

(a) Average profit

(b) Normal rate of return
(c) Expected rate of return
(d) None of these

[Ans. (b) Normal rate of return]|

4.  Which of the following is true?
(a) Superprofit = Total profit / number of
years
(b) Super profit = Weighted profit / number
of years
(c) Super profit = Average profit — Normal
profit
(d) Super profit = Average profit x Years of
purchase
[Ans. (c) Super profit = Average profit -
Normal profit]
3. Identify the incorrect pair
(a) | Goodwill under - | Average profit x
Average profit Number of years of
method purchase
(b) | Goodwill under - | Super profit x
Super profit method Number of years of
purchase
(c) | Goodwill under - | Average profit
Annuity method % Present value
annuity factor
(¢) | Goodwill under - | Weighted average
Weighted average profit x Number of
profit method years of purchase

[Ans. (¢) Goodwill under Annuity method
- Average profit x Present value
annuity factor]

23



0. When the average profit is ¥25,000 and the
normal profit is ¥15,000, super profit is

(a) 225,000 (b) 25,000
(c) 210,000 (d) 215,000
[Ans. (c) T10,000]
Hint : Super profit = Average profit — Normal profit
=¥ 25,000 - ¥15,000
=310,000
7. Book profit of 2017 is ¥35,000; non-recurring
income included in the profit is 21,000 and

abnormal loss charged in the year 2017 was
22,000, then the adjusted profit is

(a) 236,000 (b) 235,000
(c) 738,000 (d) 234,000
|Ans. (a) 36,000]

Hint : Calculation of adjusted profit :
2017
Particulars
I
Book profit 35,000
Less : Non-recurring income 1,000
34,000
Add : Abnormal loss 2,000
Ajusted profit 36,000

8. The total capitalised value of a business is
71,00,000; assets are T1,50,000 and liabilities
are ¥80,000. The value of goodwill as per the

capitalisation method will be

(a) 740,000 (b) 70,000
(c) 21,00,000 (d) 230,000
[Ans. (d) 230,000]
Hint: Goodwill = Total capitalised value of the
average profit — Capital
employed
Capital employed = Current assets — Current
liabilities
=7 1,50,000 — T 80,000
=% 70,000
Goodwill =7 1,00,000 — % 70,000
=7 30,000

II VERY SHORT ANSWER QUESTIONS

1. What is goodwill?

Ans. Goodwill is the good name or reputation of the
business which brings benefit to the business. It
enables the business to earn more profit. It is the
present value of a firm’s future excess earnings. Itis
an intangible asset as it has no physical existence.

Ans.

Ans

Ans.

Ans.

I

Ans.

What is acquired goodwill?

Goodwill acquired by making payment in cash
or kind is called acquired or purchased goodwill.
The excess of purchase consideration over the
value of net assets acquired is treated as acquired
goodwill.

What is super profit?

. The excess of average profit over normal profit is

called super profit. The goodwill under the super
profits method is calculated by multiplying the

super profits by certain number of years purchase.
Super profit = Average profit - Normal profit

What is normal rate of return?

Normal rate of return refers to the rate at which
profit is earned by similar business entities in
the industry under normal circumstances.

State any two circumstances under which

goodwill of a partnership firm is valued.

(i)  When there is a change in the profit
sharing ratio

When a new partner is admitted into a
firm

(ii)

SHORT ANSWER QUESTIONS

State any six factors determining goodwill.

Generally, the following factors determine the
value of goodwill of a partnership firm:
(i) Profitability of the firm:
A firm earning higher profits and having
potential to generate higher profits in
future will have higher value of good will.
(ii) Good quality of goods or services offered:
If a firm enjoys good reputation among
the customers and general public for the
good quality of its products or services,
the value of goodwill for the firm will be
high.
(iii) Tenure of the business enterprise:
A firm which has carried on business for
several years will have higher reputation
among its customers as it is better known
to the customers.

(iv) Efficiency of management:
A firm having efficient management will
earn more profits and the value of its

goodwill will be higher compared toa firm

with less efficient managerial personnel .
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Ans.

Amns,

| %]

T]'EEH et I.l'. I..IFII'|III.'| ibidim =

In the case of business enterprises having
no competition or negli etition,
the value of goodwill will be high a.

Other Factors:

There are other factors which add to the

Actual capital employed = Fined asscts
(excluding goodwall | + Current assets -
Current liabilities

Compute average profit from the following
information.

21 : ¥R, 0000 2007 ¥ 10,0005 2018: 9 000

iii}

value of goodwill of a business such as | ¢ p o -
popularity of the proprietor, impressive . Total profit
advertisements and  publicity, good Average profit =
: > ; Number of vears
relations with customers, et
B, 000 -+ 10, 004+ 9,004
How is goodwill calculated under the super Average profil = 3

profits method?

L)

[iv]

(v

Under these methods, super profit is the
base for calculation of the value of goodwill.
Super profit is the excess of average profit
over the normal profit of a business.
Super profit = Average profit — Normal
profit
Average profit i calculated by dividing
the total of adjusted actual profits of
certain number of vears by the total
number of such years. Normal profit is the
profit earned by the similar business firma I
under normal conditions,

EN

Average profit = ¥ 4,000

Calculate the value of goodwill at 2 years

purchase of average profit when average profit
is T15,000.

Solution

Gooadwill = Average profit » Numiber of years
of puchase
= 15,000 = 2
= 3,000
Goodwill = £30,0:00

Normal profit = Capital employed = I IV EXERCISES!
Normal rate of return 1. Simple average profit method

Capital employed = Fixed assets +current The following are the profits of a firm in the

assels — Current liabilities last five years:
Wormal rate of return = is the rate at OO0 = e 10000 2005 w1 1 0Hhy 20006 212,000k
which profit is earned by similar business 2007 1 713,004} wnd 2008 ¢ 714,000
entities in the industry under normal Calculate the value of goodwill at 2 yvars
circumstances, purchase of average profit of five vears.

Kolutian ;

How is the value of goodwill calculated under
the capitalisation method?

(1)

Under this method , goodwill is the excess
of capitalised value of average profit of the
business over the actual capital employed
in the business.

Gioodwill = Total capitalized walue of
the business — Actual capital
employed

The total capitalised value of the business
is calculated by capitalising the average
profits on the basis of the normal rate of
refurn.

Capitalised value of the business

Average profit

Mormal rate of return

Goodwill = Average profit = Number of years
of purchase

Total profit
Mumber of years

Average proft =

10,000+11, 000+ 12,000+ 13,000+ 14,000
- 5

641, 000

= =% 12. 000
Averageprofit = 12, 000
Croadwill = Awverage profit « Numhber
of years of purchasa
= 12,000 % 2 = 24,000
Goodwill = 7 24,000
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L.

UNIT 5 ADMISSION OF A PARTNER

MitnPLE CHOICE QUESTIONS.

CHOOSE THE CORRECT ANSWER &

L.

Revaluation Alcis a
(o) Heal Ac
(c) Personal Afc

{b) Mominal Afc
{d) Impersonal Afc
[Ans, (b)) Nominal Afc)

On revaluation, the increase in the value of
assels leads to

{a) Gain
(c) Expense

(b) Loss
(d) None of these

[ A, (a) Chain

The protit or loss on revaluation of assets and

liahilities is transferred to the capital account
of

{a) The old partners
(b} The new partner
(cy All the partners
(d) The Sacrificing partners
lAns, (a} The old partoners)

N

If the old profit sharing ratio is more than
the new profit sharing ratio of a partner, the
difference is called
(a) Capital ratio
{c) Ganing ratio

(b) Sacrificing ratio
id) None of these

|Ans. (b) Sacnhcing ratio)

At the time of admission, the goodwill brought
by the new partner may be credited to the
capital accounts of

(a) all the partners

(b} the old partners

ic} the new partner

{d) the sacrificing partners

[Ans. (d) the sacrificing partners|

Which of the following statements is nol true

in relation to admission of a partner

(a) Generalty mutual rights of the partners
change

(b} The profits and losses of the previous years
are distributed to the old partners
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10.

(c) The firm is reconstituted under a new
agreement
(d) The existing agreement does not come to an
end
[Ans. (d) The existing agreement does not
come to an end]

Match List I with List IT and select the correct
answer using the codes given below:

List I List IT
(i) | Sacrificing 1. | Investment
ratio fluctuation fund
(i1) | Old profit 2. | Accumulated profit
sharing ratio
(iii) | Revaluation 3. | Goodwill
Account
(iv) | Capital 4. | Unrecorded
Account liability
Codes :

(i) (i) (iii) (iv)
) £ 2003 4
) 3 2 4 1
@© 4 3 2 1
@ 3 1 4 2
[Ans. (b) (i) - 3 (ii) - 2 (iii) - 4 (iv) - 1]

Select the odd one out
(a) Revaluation profit
(b) Accumulated loss
(c) Goodwill brought by new partner
(d) Investment fluctuation fund
[Ans. (¢) Goodwill brought by new partner]

James and Kamal are sharing profits and
losses in the ratio of 5:3. They admit Sunil as
a partner giving him 1/5 share of profits. Find
out the sacrificing ratio.
(a) 1:3 (b) 3:1

(c) 5:3 (d) 3:5

[Ans. (c) 5:3]

Balaji and Kamalesh are partners sharing
profits and losses in the ratio of 2:1. They
admit Yogesh into partnership. The new profit
sharing ratio between Balaji, Kamalesh and
Yogesh is agreed to 3:1:1. Find the sacrificing
ratio between Balaji and Kamalesh.
(a) 1:3 (b) 3:1 (c) 2:1 (d) 1:2

[Ans. (d) 1:2]

IL.

Ans.

Ans.

Ans.

VERY SHORT ANSWER QUESTIONS.

What is meant by revaluation of assets and
liabilities?

When a partner is admitted into the partnership,
the assets and liabilities are revalued as the
current value may differ from the book value.
Determination of current values of assets and
liabilities is called revaluation of assets and
liabilities.

How are accumulated profits and losses
distributed among the partners at the time of
admission of a new partner?

Profits and losses of previous years which are not
distributed to the partners are called accumulated
profit and losses. Any reserve and accumulated
profits and losses belong to the oldpartners and
hence these should be distributed to the old
partners in the old profit sharing ratio.

What is sacrificing ratio?

Sacrificing ratio is the proportion of the profit
which is sacrificed or foregone by the old
partners in favour of the new partner. The
purpose of finding the sacrificing ratio is to share
the goodwill brought in by the new partner.
Share sacrificed = Old share — New share

Sacrificing ratio = Ratio of share sacrificed
by the old partners

Give the journal entry for writing off existing
goodwill at the time of admission of a new
partner.

Journal Entry

Particular 2 D‘;h“ CI';dll

Old partner’s capital/current

Afc (in old ratio) Dr
To goodwill Alc

(Existing goodwill written off)

Ans.

State whether the following will be debited or
credited in the revaluation account.

(a) Depreciation on assets

(b) Unrecorded liability

(c) Provision for outstanding expenses
(d) Appreciation of assets

(a) Debit account

(b)
(c)
(d)

Debit account
Debit account
Credit account
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III. SHORT ANSWER QUESTIONS.

1. What are the adjustmients required at the time of admission of a partiner?

Ans. The following adiustment are necessary at the time of admission of a partmer

(i}  Distribution of accumulated profits, reserves and losses.

{ii})  Revaluation of assets and labilities

(uf) Determination of new profit sharing ratio and sacrficing ratio

(iv) Adjustment for gnodwill

{v)  Adjustment of capital on the basis of new prohit sharing ratio (if 0 agreed).
Z.  What are the journal entries to be passed on revaluation of assets and liabilities?

Sodiifdern :

Following are the jouwrnal entries to be passed to record the revaluation of assets and liabilities

Phate

Particulars

L.F

Nehit
¥

Credit
(4

1. For merease in the value of asset
Concerned auset A'e

To Revaluation Afc

2. For decrease in the value of asset
Revaluanon Alc

To Concerned asset Afc
3. For mereass m the amount of habilities
Revaluanon Alc

To Concerned liabilities Afc

4. For decrease in the amonnt of habilsty
Concernad liability Dr
To Revaluation Afc

%, For recording an unrecorded asset
Concerned asset Al
To Revaluation Afc

6. For recording an unrecorded labality
Revaluation A/c

To Concerned liability Afc

7. For transferring rhe balanece in revaluation Afc
{a) If there is profit on revaluation
Bevaluation A'c
To Old partner’s capital Afc
| {mdividually in old ratio)

ib) If there 1s loss on revaluation
O1d partner™s cagntal Ade {mndividually m old ratio)
To Revaluation Afe

Drl

D

D

Dir

XXX

XXX

XXX

XX

XXX

XXX
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3. Write a short note on accounting treatment of {iii] When the new partner brings only a part
goodwill, of the goodwill in cash or in kind
Ans. According treatment for goodwill on admission Sometimes the new partmer may bring only a
of a partner is discussed below: part of the goodwill in cash or asets. In such
(i} When new partner brings cash onwards a case, for the cash or the assets brought the
goadwill respective account is debited and for the amount
When the new partner brings cash towards not brought in cash or kind, the new partner’s
goodwill in addition 1o the amount of capital capital account is debited
il is distributed o the existing partners in the {iv)  Existing goodwill
sacrificing ratio. [t goodwill already appears in the books of
(ii) When the new partner does not bring accounts at the time of admission if the partners
goodwill in cash or in kind decide, it can be written off by transferring it to
If the new partner does not bring goodwill in the existing partmers capital account/current
cash or in kind, his share of goodwill must be account in the old profit sharing ratio. -
adjusted through the capital accounts of the
partners.
IV. EXERCISES.
Distribution of accumulated profits, reserves and losses
I. Arul and Anitha are partners sharing profits and losies in the ratio of 4:3. On 3132018, Ajay was |
admitted as a partner. On the date of admission, the book of the firm showed a general reserve of |
242,000, Pass the journal entry to distribute the general reserve.
Solution ;
Jourpal Ewtry
Date Particulss LE “;H' ':";d"
2018 General reserve Al Dr 42,00
March 31 . 4
To Arul’s capital Afe (42,000 = e ) 24 01
To Anitas capital Afc (42,000 = % ) 14,000
{Geneml reserve tramsferred to old partner™s
capital account in the old profit sharing ratia) .
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23, Sundar and Suresh are partners sharing profits in the ratio of 3:2. Their balance sheet as on st

January, 2017 was as follows:
Liabilities T | t Assets T |
Capital accounts: Buildings 40,000
Sundar 30,000 | Furniture 13,004
Suresh 20000 50,000 | Stock 25,000
Creditors | 50,000 | Debtors 15,000
General reserve 10,000 | Bills receivable 14,000
Workmen compensation fund | 15,000 | Bank 18,000
12000 iason

They decided to admit Sugumar into partnership for 1/4 share in the profits on the fallowing terms:

(a) Sugnmar has to bring in 30,000 as capital. His share of goodwill is valued at #5,000. He could not
bring cash towards goodwill.

(b} That the stock be valued at 20, (04,

(€] That the furniture be depreciated by 2,000,

(el That the value of building be depreciated by 20%..

Prepare necessary ledger accounts and the balance sheet after admission.

Sl i ; Revalwation Aecount
Dr Cr
Particulars ¥ Particulars T 4
To Stock Alc 5,000 | By Loss on revaluation
To Furniture Afc 20K} | transferred 10
To Building A/c 8,000 | Sundar’s capital Afc (3/5) 4,000
Sureshs capital Afc (2/5) &, (00 15,000 |
15,000 15,000 |
Capital Acconnt
Iir ir
Particulars Sundar | Suresh | Sugumar Particulars Sundar | Suresh | Sugumar
4 4 4 % L 4
To Bevaluaiion Afc G000 i, (W - | By Bakimce bd 0000 1 ML,000 =
Too Sundar’s capital Afc = = SO0 | By Bank Afc = = 301,000
{Share of goodwill) By General
To Balance c/d 41000 | 24,000 250000 | reserve Afc & 0K A0 -
By Waorimen
Compensation
fund Adc
g -
ByS » 000 £,000
capifal Afc 5000 =
| {Share o
| goodwill
50,000 30,000 25000 | 50,000 30000 30,000
By Balance byd 41000 | 24,000 25,000
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Balance sheet as on 1" January 2017

| Liabilities z 7 Assets S T |
' Capital Account : Building 40,000
Sundar 41,000 Add: Depreciation 20% | 8000 32,000
Suresh 24,0400 Furniture 13,000 -
Sugumar 250 | 90,000 | Less: Depreciation 2000 11,0040 |
Creditors 50,000 | Stock 25,000
Less: Depraciation 5,000 205000 ‘
Debtors ¥ 15,000
Rills recefvable 14,0040
Bank (18,000 + 30,000) 48,0001
: | 1,440,000 1,40,000 |
20, The following is the balance sheet of James and Justina as on 1.1.2017. Thev share the profits and
losses equally.
! Liabilities = 2 Assety E
Capital accounts: Building 70,000
Jamies 441, 000 Ltock 30,0400
Justina 50,000 S0,000 | Debtors 20,000
Creditors | 35,000 Bank 15,0460
Beserve fund 15,000 | Prepaid insurance [ 5,000
, , - 1,40,000 | | 140,000
On the above date, Balan is admitted as o partner with 1/5 share in future profits. Following are the
terms for his admission:
(i) Balan brings 225,000 as capital.
(it} His share of goodwill is 210, 000 and he brings cash for it.
{iii] The assets are to be valued as under:
Building 280, 000; Debtors T18,000; Stock 333,000
Prepare necessary ledger accounts and the balance sheet after admission.
Solution :

Bevaluation Account

Dr cr
| Particulars 7 ? Particulars 2|
To Debtors AJc 2,000 | By Building A/c 10,000 |
To Profit on revaluation By Stock Afc 3,000 |
| transterred to

James’s capital Alc 5,000
Justina’s capital Afc 300) Lioeey !
i 13,000 13,000 |
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Capital Accoumt

D Cr
- James | Justina | Balan i James | Justina Balan
Purticulars ¥ 2 7 Particulars v ¥ 2
To Balance ofd | SEA00 [ 63,000 [ 25004 | By Balance b/d 40000 | 50,040 =
By Reserve fund Afc 7.500 7,500 -
By Bank AJc - = 25,044
By Revaluation Afc 5.500 5,500 -
By Banlk A/c (Share
of Juill) 5000 1] s
58,000 | 68,000 | 25000 58,000 | 68,000 25,000
By Balance b/d SE0M0 | 68,000 25,000 |
Cash ar Bank Acconnt
Dr Cr
_____ Particulirs f________ Particulars T
To Balance bid 15.000 | By Balance ¢fd 50,000
To Balan's capital A'c 25,000
To Jame's capital A 5000
To Justina's capital Alc 5,000 |
SOL00C 50,000 |
Balance sheet as on 1% January 2017
Liabilities z L Assets T T
Capital Account : Building P 0
Jamess Alc 58,000 Add: Appreciation 10, O A0, 00
Justins Afc 58,000 Stock 30,000
Ralan Afc 25000| 1,510,000 | Less: Appreciation 3000 33,0060
Creditors 35,000 | Debiors 20k, 004
Lesa: Undervalued 00 1E ()
Bank SLIRLL Y]
Prepaid imsurance 5, IHK)
1,46,000 | 186,000 |

27, Anbuand Shankar are partners in o business sharing profits and losses in the ratio of 3:2, The balance
sheet of the partners on 31032018 is as follows:

Liabilities T T Ausels T

Capital accounts: Cu:nmpulne-rm 40,000

Anbu 400,000 Motor car Lo, (00

Shanlar 300,000 | 7.00,000 | Stock 400, 000

Profit and loss 1,20,000 | Debtors 3,600,000

Creditors 1.20.000 | Bank R
Workmen compensation fund 60000

10,000,000 10,00, (W00
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Rajesh is admitted for 1/5 share on the following terms:
(i) Goodwill of the firm is valued at ¥75,000 and Rajesh brought cash for his share of goodwill.
(ii) Rajesh is to bring 21,50,000 as his capital.

(iii)

(iv)

(v) Unrecorded investment of 25,000 has to be brought into account.

Motor car is valued at ¥2,00,000; Stock at 23,80,000 and debtors at 23,50,000.
Anticipated claim on workmen compensation fund is ¥10,000

Prepare revaluation account, capital accounts and balance sheet after Rajesh’s admission.

Solution :

Revaluation Account

Dr Cr
Particulars T Particulars T
To Stock A/c 20,000 | By Motor car 40,000
To Debtors A/c 10,000 | By Investment A/c 5,000
To Profit on revaluation
transferred to
Anbu’s capital A/c 9,000
Shankar’s capital A/c 6,000 | 15,000
45,000 45,000
Dr Capital Account Cr
Pasticulais Al%bu Sha%jkar Ra};sh Particilins Al%hu Sha;kar Ra];sh
To Balance ¢/d | 5,20,000 | 3,80,000 | 1,50,000 | By Balance b/d 4,00,000 | 3,00,000 -
By Bank A/c - - | 1,50,000
By Profit and loss A/c | 72,000 48,000 -
By Workmen
compensation fund 30,000 20,000 g
(60,000 — 10,000)
By Revaluation A/c 9,000 6,000 -
By Goodwill A/c 9,000 6,000 -
5,20,000 | 3,80,000 | 1,50,000 5,20,000 | 3,80,000 | 1,50,000
By Balance b/d 5,20,000 | 3,80,000 | 1,50,000
Good will of the irmis = 75,000
Rajesh share of goodwill = 75,000 x é
= R 15,000
It is to be distributed to Anbu and Shankar in their old ratio of 3:2
Dr Cash at Bank account Cr
Particulars T Particulars <
To Balance b/d 40,000
To Rajesh capital Ale 1,50,000
To Anbu's capital Ale 9,000
To Shankar's capital A/c 6,000 | By Balance c/d 2,05,000
2,05,000 2,05,000
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Balance Sheet

Liabilities ¢ T Assels T ¥

Capital accounts: Computer 40,000
Anbu 5,20,000 | Motor Car 160,000

Shankar 3,80, (k) Add: Appreciation 40,003 2, W1, 00
Rajesh 1.50,000 | 10,50.000 | Stock ERLIRULT

Creditors 1200000 | Less: Depreciation 20,000 | 3,830,000
::gﬁﬁ"ﬁ:‘uﬁmm“ fund 10,000 Debtors 360,000

Less: Under valued 10,000 | 3,50,000

Bank 205,000

Unrecorded investment 5,000

11,880,000 11,580,006
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UNIT 6 RETIREMENT AND DEATH OF A PARTNER

I

MULTIPLE CHOICE QUESTIONS

CHOOSE THE CORRECT ANSWER

|

A partner retires from the partnership firm on
30% June. He is liable for all the acts of the firm
up to the
(a) End of the current accounting period
(b) End of the previous accounting period
(c) Date of his retirement
(d) Date of his final settlement
[Ans. (¢) Date of his retirement]

On retirement of a partner from a partnership
firm, accumulated profits and losses are
distributed to the partners in the

(a) New profit sharing ratio
(b) Old profit sharing ratio
(c) Gaining ratio
(d) Sacrificing ratio
[Ans. (b) Old profit sharing ratio]

On retirement of a partner, general reserve is
transferred to the

(a) Capital account of all the partners
(b) Revaluation account
(c) Capital account of the continuing partners
(d) Memorandum revaluation account
[Ans. (a) Capital account of all the partners]

On revaluation, the increase in liabilities leads
to

(a) Gain (b) Loss
(c) Profit (d) None of these
[Ans. (b) Loss]

At the time of retirement of a partner,
determination of gaining ratio is required

(a) To transfer revaluation profit or loss
(b) To distribute accumulated profits and losses
(c) To adjust goodwill
(d) None of these
[Ans. (¢) To adjust goodwill]
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If the final amount due to a retiring partner is
not paid immediately, it is transferred to

(a) Bank A/c
(b) Retiring partner’s capital A/c
(c) Retiring partner’s loan A/c
(d) Other partners’ capital A/c
[Ans. (c) Retiring partner’s loan A/c]

* A'was a partner in a partnership firm. He died
on 31* March 2019. The final amount due to
him is ¥ 25,000 which is not paid immediately.
It will be transferred to
(a) As capital account
(b) A’ current account
(c) A’s Executor account
(d) A’s Executor loan account

[Ans. (d) A’s Executor loan account]

A, B and C are partners sharing profits in the
ratio of 2:2:1. On retirement of B, goodwill
of the firm was valued as ¥ 30,000. Find the
contribution of A and C to compensate B:

(a) T20,000 and T 10,000

(b) ¥ 8,000 and ¥ 4,000

(c) ¥ 10,000 and ¥ 20,000

(d) ¥ 15,000 and T 15,000

Hint :

2

B's share of goodwill = 30,000 XE

12,000
2
A’s capital A/c (12,000 x 5] = ¥8,000

1
C’s capital A/c (12,000 x E} = 4,000

[Ans. (b) 8,000 and T 4,000]

A, B and C are partners sharing profits in the
ratio of 4:2:3. C retires. The new profit sharing
ratio between A and B will be

(a) 4:3 (b) 3:4
{c) 2:1 (d) 1:2 [Ans. (c) 2:1]
Hint :

A, B, Cssharing ratio=4:2:3
C's retired, so A and Bs shareratio=4:2=2:1

10.

LY

1.
Ans.

Ans.

Ans.

Ans.

X, Y and Z were partners sharing profits and
losses equally. X died on 1* April 2019. Find
out the share of X in the profit of 2019 based
on the profit of 2018 which showed ¥ 36,000.
(a) 1,000 (b) T 3,000
(c) T 12,000 (d) T 36,000

[Ans. (b) ¥ 3,000]

ERY SHORT ANSWER QUESTIONS:

What is meant by retirement of partners?
When a partner leaves from a partnership firm,
it is known as retirement. The reasons for the
retirement of a partner may be illness, old age,
better opportunity elsewhere, disagreement with
other partners, etc.

What is gaining ratio?

The continuing partners may again a portion of
the share of profit of the retiring partner. The
gain may be shared by all the partners or some
of the partners. Gaining ratio is the proportion
of the profit which is gained by the continuing
partners.

What is the purpose of calculating gaining
ratio?
The purpose of finding the gaining ratio is to bear
the goodwill to be paid to the retiring partner.
The share gained is calculated as follows:
Share gained = New share — Old share
Gaining ratio = Ratio of share gained by
the continuing partners.

What is the journal entry to be passed to
transfer the amount due to the deceased
partner to the executor of the deceased
partner?

To transfer the amount due to the deceased
partner to the executor or legal representative of
the deceased partner.

Date

Debit | Credit

LE| ¢ z

Particulars

Deceased partner’s

capital A/c Dr.
To Deceased
partners
executor’s Afc

).9.0.4

36



III. SHORT ANSWER QUESTIONS:

1.
Ans.

Ans.

(a)

(b)

List out the adjustments made at the time of retirement of a partner in a partnership firm.

The following adjustments are necessary at the time of retirement of a partner.

(i)
(ii)
(iii}
(iv)
(V)
(wvi)

Distribution of accumulated profits, reserves and losses.

Revaluation of assets and liabilities.

Determination of new profit sharing ratio and gaining ratio.

Adjustment for goodwill.
Adjustment for current year’s profit or loss upto the date of retirement.

Settlement of the amount due to the retiring partner.

Distinguish between sacrificing ratio and gaining ratio.

Basic Sacrificing ratio Gaining ratio
1. | Meaning It is the proportion of the profit which | It is the proportion of the profit
is sacrificed by the old partners in which is gained by the continuing
favour of a new partner. partners from the retiring partner.
2. |Purpose It is calculated to determine the It is calculated to determine the
amount to be adjusted towards amount to be adjusted towards
goodwill for the sacrificing partners. goodwill for the gaining partners.
3. | Time of It is calculated at the time of admission | It is calculated at the time of
calculation of a new partner. retirement of a partner.
4. | Method of It is the difference between the old It is the difference between the new
Calculation ratio and the new ratio. ratio and the old ratio.

Sacrificing ratio = Old profit sharing
ratio - New profit sharing ratio.

Gaining ratio = New profit sharing
ratio — Old profit sharing ratio.

What are the ways in which the final amount due to an outgoing partner can be settled?
The amount due to the retiring partner may be settled in one of the following ways.

(1)
(i)

(iii)

Paying the entire amount due immediately in cash.
Transfer the entire amount due to the loan account of the partner.

Paying part of the amount immediately in cash and transferring the balance to the loan account of

the partner.

The journal entries to be made are as follows:

When the amount due is paid in cash immediately.

Debit | Credit
Date Particulars L.F = T
4 T
Retiring partner’s capital A/c Dr. XXX
To Cash / Bank A/c XXX
When the amount due is not paid immediately in cash.
Date Particulars L.F D;b’t Cl‘;d.lt
Retiring partner’s capital A/c Dr. XXX
To Retiring partner’s loan A/c XXX
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(c)  When the amount due is partly paid in cash immediately.

Date Particulars LE D?ﬂ Cr;{ht
Retiring partner’s capital A/c Dr. XXX

To Cash / Bank A/c (amount paid) XXX

To Retiring partner’s loan A/c XXX

Retiring partner’s loan account will appear on the liabilities side o the balance sheet prepared after
retirement till it is completely settled.

IV. EXERCISE:

RETIREMENT OF A PARTNER
Distribution of accumulated profits, reserves and losses:
1. Dheena, Surya and Janaki are partners sharing profits and losses in the ratio of 5:3:2. On 31.3.2018,

Dheena retired. On the date of retirement, the books of the firm showed a reserve fund of T 50,000.
Pass journal entry to transfer the reserve fund.

Solution :

Journal entry

Date Particulars L.F Debit Credit
£4 54
2018 General reserve Afc Dr. 50,000
March 31 To Dheena A/c (50,000 x 5/10) 25,000
To Surya A/c (50,000 % 3/10) 15,000
To Janaki A/c (50,000 % 2/10) 10,000

(General reserve transferred to all
partner’s capital account in the profit
sharing ratio)

2. Rosi, Rathi and Rani are partners of a firm sharing profits and losses equally. Rathi retired from the
partnership on 1.1.2018. On that date, their balance sheet showed accumulated loss of T 45,000 on
the asset side of the balance sheet. Give the journal entry to distribute the accumulated loss.

Solution :

Journal entry

Date Particulars L.E Debit Credit

T T
2018 Rosi Afc (45,000) Dr. 15,000
January 1 | Rathi A/c Dr. 15,000
Rani A/c Dr. 15,000
To Profit and loss A/c 45,000

{ Accumulated loss transferred to all
partner’s capital account in the old profit
sharing ratio)
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(1)

UNIT 7 COMPANY ACCOUNTS

MuLTIPLE CHOICE (QUESTIONS.
Choose the correct answer ;

A preference share is one

(i) which carries preferential right with
respect to payment of dividend at fixed
rafe

{ii) which carries preferential right with
respect o repayment of capital on winding
up

{a} Only (i) is correct

{b] Omly (ii) s correct

{c) Bath (i} and (ii) are correct

{d) Bath (i) and (i) are incorrect

| Ans, (o) Both (i) and (i) are corriect|

That part of share capital which can be called
up only on the winding up of a company is
called:

{a} Auothorised capital
{c) Capital reserve

(b} Called up capital
(d) Reserve capital
[Ans (d] Reservecapital]

ol

At the time of forfeiture, share capital account
is debited with

{2) Face value

(b} MNominal value

(¢} Paid up amount

{d) Called up amount

| A s, () Called up amaoum

After the forfeited shares are reissued, the
balance in the forfeited shares account should

be transferred to

{2) General rezerve account

{b} Capital reserve account

(¢} Securities premium account
{d) Surplus account

| A s [ l.'.||_ri:l.|.| FeREF Ve el

The amount received over and above the par
value is credited to

(2} Securities premium account
(b} Calls in advance account
{c} Share capital account

(d) Forfeited shares acoonnt

[Ans. (a) Securities preminm account]
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6.

7.

H.

9.

Which of the following statement is false?

(a) lzsued capital can never be more than the
authonsed capital

(b} In case of under subscription, issued capital
will be less than the subscribed capital

(c} Reserve capital can be called at the time of
winding up
{d}) Paid up capital is part of called up capital
[Ane. (b)Y In subscription,
issued capital will be less than the
subscribed capital|

case nof wunder

When shares are issued for purchase of assets,
the amount should be credited to

(a) Vendors Alc

(b} Sundry assets Ac

{c) Share capital Afc

{d) Bank A/c
| Ans, (¢} Share capital A/c|
Malch the pair and identiry the correct option
i (1) | Under (i) | Amount prepaid |
| subscription for calls |
(2) | Over (i} | Subscription |
| subscription above the offered
, : shares |
|(3) | Calls inarrear | (iii) | Subscription |
below the offered
[ | shares
| (4) | Callsin (iv} | Amount unpaid
|| advance on calls
(1 @y (3 4
(a) (&) () (i) (iv)
(b) (iv) (i) (i) (i)
{c) (i) @) f{iv) (i)
(dy (WD) (iv) (D) (i)

[Ans. tc) 1= (i), 2- ik 3 - (iv), 4- ()]
1f a share of 210 on which 78 has been paid up
is forfeited. Minimum reissue price is
{a) 210 per share (b) *& per share
{c) ¥5 per share (d} ¥2 per share

| Ans. (d} $2 per shire]

Hiwr =

10 - #8
= T2

Minimum reissue price

10.

Hiwait

Ans.

fAns,

-
Ans.

Ans.

Ans.

Supreme Lud. forfeited 100 shares of $10 each
for non-payment of final call of ¥2 per share.
All these shares were re-issued at ¥9 per share.
What amount will be transferred to capital
reserve account?
{a) T700

(c) =900

(b} TROD
(d) ¥1.000

| Ans, {a] T700|
Forfeited amount for 100 shares a0
Final call amount { 1040 = 2) = 200
Capital reserve =700
VERY SHORT ANSWER QUESTIONS.

What is a share?

The capital of a company is divided into small
units of fixed amount. These units are called
shares,

What is over-subscription?

When the number of shares applied for is
more than the number of shares offered for
sul:mcriptll:m, it 15 said to be over mb_li::rlpticm.

What is meant by calls in arrear?

When a shareholder fails to pay the amount due
on allotment or on calls, the amount remaining
unpaid is known a calls in arrears. In other
words, the amount called up but not paid is calls
in arrear.

Write a short note on securities premium
account,

When a company issues shares at a price more
than the face value (nominal value}, the shares
are said to be issued at premium. The excess is
called as premium amount and iz transferred to
securities premium account. Securties premium
account Is shown under reserves and surplus as
a separate head in the Note to Accounts to the
balance sheet.

Why are the shares forfeited?

When a sharcholder defaults in making payment
ol allotment andfor call money, the shares may
be forfeited. On forfeiture, the share allotment is
cancelled and to that extent paid up share capatal
a reduced. The person ceases to be a shareholder
of the company after the shares are forfeited.
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I11.

SHORT ANSWER QUESTIONS,

L. State the diferences between preference shares and equity shares.

Ans,
| ~ Basis |_ ~ Equity shares | Preference shares . _I
1. | Mecanmg Eqmlj.r shares are the clrdmm'}r shares | Preference shares are the shares that |
of the company representing the par | c-ﬂ.n'_'rpr:fcrmhal. rights on the matters of |
ownership of the sharcholder in the | payment of dividend and repayment r.lf?
L B A B i _4
(=] Pa‘-m:nt of | The dividend 15 pard  after the Priority in payment t of dividend over
| |dividend | payment of sl liabilities | oquity sharcholders
i, |Rateof Fluctuating Fixed
| | dmvidend 1 . A &
4. | Voting nghts | Equuty shares cany voting nghts Nonnally. prefersnce shares do not
S T, S | carry voting rights .
| 5. | Comvertibility quulj.r shares can never be Preference shares can be converted into
! | conpries ety sacs
Ans, (il 'The excess amount paid ower the called premiwm, the amount of such premium
up value of a share is known as calls in will be credited to securities premium
advance. account
[if} It is the excess money paid on application :
or allotment or calls. Such excess amount &7 | Wikl shcrf't e .
irs b etinasd o afuistad bl T {a) Authorised capital
payment. {h) Reserve capital
liiiy If the company decides to adjust such | Ana. (al Autherised capital ;
amount fowards future payment, the It means such capital as is authorised by
excass amount may also be transferred to the memorandum of association. It is the
a separate account called call in advance maximum amount which can Ix-%mimi
livl Calls in advance does not form part of the a5 "fﬂp]lul' It W also klnnw'n as registered
company’s share capital and no dividend is capital or nominal capital.
pavable on such amount. {h)  Reserve capiital &
(¥) In the balance sheet, it should be shown The company can reserve a part of its
under current Labilitios. subscribed capital to be called up only at
the time of winding up. It is called reserve
3. What is reissue of forfeited shares? capital Zee
Ans, (1]  Shares forfeited can be rewssued by the
company. . What is meant by issue of shares for
{iij The shares can be reissued at any price consideration other than cash?
 But, the reissue price cannot be less than | Ans. A company may issue shares for consideration
the amount unpaid on forfeited shares, “u“”h"‘-“‘“]_‘ when the i ‘:"-'"1“"1"-“. fixced
il Example: I a share of €10 on which Tg | 2%t such s land and buildings, machinery
already been paid as application money Et:t o "i_n be-situﬂm] Wing Jo
i forfeited and reissued as fully paid up, . pa
then a maximum of T6 must be fixed as
the new price (10 - 4 = &}
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j[:m | Particulars | LF | ﬁ‘;ﬁ‘- | C-'g‘ﬁ‘

{[i} For Purchase of a85el :
Respective asset Alc L AKX
To Vendor Afc oo
| (1} Forissue of shiares :
Vendor Afc T AN
To Equity share capital Afc KXX
To Securities premium Afe % 4
(if issued at premium)

A company may also issue shares a consideration for the pu.ra..has& of business, to promoters for their
services and to brokers and underwriters for commission,

V. EXERCISES.

1. Progress Lid. issucd 50,000 ordinary shares of 210 each, payable 72 on application, ¥4 on allotment,
22 on first call and 22 on Anal call. All the shares are subscribed and amount was duly received. Pass
journal entries.

Salution @
In the books of progress Ltd Journal entries
[hate Particulars [ LF [J;hu | C[-;dn

Banl AJc (50,000 = 2) Dy 100,000
o Share application Afc 1.00,000
| {Application mopey received) _ _ |
Share application Afc Dr 1,00,00:0
Ty Share capital Afc 1,00, D000
(Transfer of share application money to share
capital)
Share allotment Alc Dr 2,00,000
T Share capital Alc 2,00, 000
| {Share allotment maney due) | | _
Bank Afc Dr 2,00,000
To Share allotment Alc 2,040,000
{ Allotment money received)
| Equity share first call Afc Dr 1, 00,000
| ToShare capital Asc 1040, 00
| (Share first call money due) _ _ _
| Bank AJc Dr 100,000
To Share first call Afe 1,000,000
| (Share first call money received) _ S _
Share second and final call Ajc Dr 1L,00,00:0
T Share capital Alc 1,04, D00
| (3hare second and final call meney due) _ _ |
Bank A/c Dr 1,00,000
Tor Share second and final call Afc
| (Share second and final call money received)

1,00, (W
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UNIT 8 FINANCIAL STATEMENT ANALYSIS

Murrieie Crolce QUESTIONS

{ HO0SE THE CORRECT ANSWER

Which of the following statements is not troe?
(a) Motes and schedoles also form part of

financial statements.

(b} The tools of financial statement anabysis
include common-size slalement

(c} Trend amnalysis refers to the study of
movement of figures for one year

(d} The commaon—size statements show the
relationship of varlous items with some
common base, expressed as percentage of
the common base

[Ans () Trend analysis refers to the study of
movement of fignres for one vear|

Balance sheet provides information about the
financial position of a business concern

{a} Owera period of time

(b} As on a particular date

(c) Pora period of time

{d} Por the accounting period

[Ans. (b) Ason a particolar date|

n

Which of the following tools of fnancial
statement analvsis is suitable when data
relating to several vears are to be analysed?

(a} Cash flow statement

(h) Common size statement

(c] Comparative statement

(d} Trend analysis  [Ans, (d] Trend analyvsis)

The financial statements do not exhibit
(2] Non-monetary data

(k) Past data

(c) Short term data

(d) Long term data

[-‘;Flh. a) Moo= monelary ||'.1I.|.|

Which of the following is not a tool of inancial
statement analysis?

{a) Trend analysis
(b) Common size statement
(c] Comparative stabement
(d) Standard costing
[Ans. (d) Standard costing]
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6.

10,

The term “fund’ refers to
{a) Current liabilities
{c) Fixed assets

{d) Non-current assets

{b) Warking capital

[Ans. (b} Working capiral]

Which of the following statements is not true?

{a) All the limitations of financial statements are
applicable to inancial statement analysis also.

(k) Financial statement analysis iz only the
means and oot an end.

{c}) Expert knowledpe is nol required in
analysing the hnancial statements.

{d) Interpretation of the analysed data involves
persomal judgement,

[Ans, (c] Expert knowledge is not reguired in

analysing the hnancial stalements. |

A limited company’s sales has increased from
¥ 1,25.000 (o ¥ 1.50,000. How does this appear
in comparative income statement?

{a) +20% (b) + 120%
{c) - 120% (d) -20%

[Ans, (o] + 20 %]
Hint :

Comparative income statement
= 1,25,000 = 1,540,000 = +2 5,000
+253,000
~ 1,25,000
In & common-size balance sheet, if the

percentage of non-carrent assets is 75, what
would be the percentage of current assets?

X100 = 420 0%

{a) 175 (k) 125
{c) 25 (d) 100 [Ans {c) 25]
Hint
Total assets = Current assets - Non-current assels
ol = x-75
Lx o= 10-75=25
SCurrent assets = 15,

Expenses for a business for the first vear were
T 80,000, In the second year, it was increased to
T BH.000. What is the trend percentage in the
second vear?

{a) 10 % {b) 110 %
{c) 90 % (d) 11%
[Ans, (b)) 110%)
Hinil :
Trend percentage = — x 100 = 110%.

80,

Ans.

Ans.

Ans,

Ans.

Ans.

2.
Ans,

VERY SHORT ANSWER QUESTIONS

What are financial statements?

Financial statements are the statements prepared
by the business concern at the end of the
accounting perind to ascertain the operating
results and the fnancial position. The basic
financial statements prepared by business
concerns are income statement and balance sheet,

List the tools of financial statement analysis.

Following are the commonly used tools of
financial statement analysis

(il  Comparative statement

Common-size statement

Trend analysis

Funds How analysis

Cash flow analysis

What is working capital?
The term ‘fund’ refers w working capital

Working capital refers to the excess of current
assets over carrent liahilities.

i)
{iii]
fiv)

vl

When is trend analysis preferred to other
tools?

Trend analysis refers to the study of movement of
figures over a period. The trend may be increasing
trend or decreasing trend or irregular. When data
for more than two years are to be analysed, it may
be difficult to use comparative statement.

SHORT ANSWER QUESTIONS:

‘Financial statements are prepared based on

the past data’ Explain how this is a limitation.

Follvwwing are the limitations of financial

statements.

(il Lack of qualitative information :
Cualitative  information that 5 non-
monetary information is also important
for business decisions.

Record of historical data:

Financial statements are prepared based
on historical data. They may not reflect the
current position.

{in)

Write a short note on cash flow analysis.

{11 Cash flow analysis is concerned with
preparation of cash flow statement which

shows the inflow and ouwtflow of cash and
cash equivalents in a given period of time.
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(i) Cash includes cash in hand and demand
deposits with banks.

(iii} Cash equivalents denote short term
investments which can be realised easily
within a short period of time, without
much loss in value.

{iv] Cash flow amalysis helps in assessing
the liquidity and solvency of a business

Ans.

Explain the steps involved in preparing
-I'.lZIJ!I!IiJili"Jm'E statermenl.

A comparative statement has five columns.
Following are the steps to be followed in
preparation of the comparative statement.

Colwmn 1: In this column, p-m'til:u.l:lﬂ
of items of income statement or balance
sheet are written.

concerm. (i)  Coluwmn 2: Enter absolote amount of year 1
3. Bricfly explain any three limitations of (i1} Colummn 3: Enter absolute anvount of year 2
financial statements. (v}  Column 4: Show the difference in amounts
Ans. (1) Give only interim reports between year 1 and year 2. [f there is an
Financial statements are prepared at the increase in pear 2, put plus sign and if there
end of every accounting penod. But the is decrease pul minus sign.
actual position of the business can he i¥]  Column 5: Show percentage increase or
known only when the business is closed. fiﬁf*‘?lﬂ of '3;*:15:“-’“;5' m?:ﬂt shown
B Limited access by exteenal users: N column ¥ diading the amount
o _HI:: : ‘a;*:ﬂ:r; d::.r:::.t II:::; p— shown in column 4 {absolute amount of
and frequemt information of financial e m]“frhﬁcf”} by < i3k
results as they have limited access. SR i
(iii} InfHuenced by personal judgement: g z
Preparation of Anancial statements may Absolute amount of increase
be influenced by personal judgements and = or decrease * 100
therefore these are not free from bias. Year 1 amount
Fovmat of I.'ullll.lill'il”.'l.'t‘_'-' alement:
Year1 | Yearz Absolute amount of increase (4 o - : )
. TR, reentage increase (+) or
Particular g - % : ) decrease (-)
(1) {2 (3 i4) (5]
3. Explain the procedure for preparing common-size statement.
Ans, Common-size statement can be prepared with three columns. Following are the steps to be followed in

prepatation af common-size statement:

(i)  Column I: Inthis column, particulars of items of income statement or balance sheet are wriitten

{ii} Colomns 2: Enter absolute amonnt.

L) Colummn 5: Choose a common base as 100, For example, revenoe from operations can be taken as
the base for income statement and total of balance sheet can be taken as the base for balance sheet.
Work oul the percentage for all the items of column 2 in terms of the common base and enter them

in column 3.

Format of common-size statement:

! Particulars A'h&niute amnu.ﬂ| Ptr-:entuge
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V.

1.

Solmi

2.

Sirlusid

EXERCISES:

COMPARATIVE STATEMENT ANALYSIS

From the following particulars, prepare comparative income statement of Arul Lid.

Particulars 2015-16 21617
- - ? ------ — ? -
Pevenus from operations 50,000 60,000
Other income 10,000 30,000 |
Expenses | 40,000 50.000 |
ion ; Comparative income statement of Arul Ltd for the years eonded 31 March 2006 and 31* March 2017

Absolute amount Percentage
Particulars 516 2006-17 of increase (+) or | increase (+) or
decrease (-) decrease (-]

Bevenue from Operations 50,000 60, (M + 10,000 + 20
Add : Other income 10,000 30,000 + 20,000 + 200
Total revenue _m_nfp:}_ gﬂ,:ﬂ'ﬁ" + 30,000 + 50
Less : Fxpenses 40,000 S0, (R + 10,00 +25
Profit before tax 20,000 40,000 | + 20,000 | 100
Mote:

: : : 10, 00
Computation of percentage increase for revenue form operations = ® 100 = 2%
Percentage increase for other incomes = 21,000 w100 = 200%

140, Oy

Percentage increase for expenses = % 100 = 25%

From the following particulars, prepare comparative income statement of Barani Ltd.

Particulars 2016-17 2017-18
i 1
Revenue from operations 30,000 45,000
Other inemune 4,00 6,000
Expenses 10, 0:00 15,000
Income tax 30 30%
i Comparalive income stalement of Barani Lud. for the FERES £ died 2007 amd 2018
e e s
decrense (=) decrease (-)
Pevenne from Crperations 30,000 45,0400 + 15,000 + 50
Add : Other income 4,000 6,000 | + 2,000 +50
Total revenue 3,000 | 51,000 | +17,000 +50
Less : Expenses 10,000 15,01 | + 3 + 50
Profit before tax 24,000 36,044} + 12,000 + 50
Less : Tax {30%) 7,200 101, 8K} + 3,60M) + 50
Profit after tax 16800 | 25200 + E_.-iﬂﬂ_| + 50
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Moo

15, (MK}

Percentage increase for revenue from operations = ; »* 100 = 50%
Percentage increase for other incomes = 2000 w 10 = 50
4000
. 5,000
Percent increase for expenses = w100 = 50
5 10, 0
Percentage increase for Tax = J0 » 100 = 50%
7,200
4. From the following pariiculars, prepare comparative income statement of Daniel Lid.
Particulars 2015-16 2016-17
T b
Revenne from operations 0,000 £0,000
Cperating cxpenscs 25,000 27.500 |
Income tax (% of the profit before tax) | 30 30
Soluebion :
Ciomagpieslie:[potim dakissisnt &F Tl L So i v oo 14 ik 2017
Absolute amount Pe I
: W015-16 2016-17 | of increase (+)or | , CTroooRE
Particulars imcrease [+ or
E 4 T decrease (-] d
¥ ecrease (-}
Pevenue from Operations 40,000 20,000 + 10,000 +25 |
Profit before tax 15,000 | 22,5040 + 7,500 + 50
Liss 2 Income tax 4500 67 + 2,250 + 5
Profit ofter tax 10500 | 15750 +5250 + 50
Mot
n _ , 10, 000
Percentage increase for revenue from operations = 00 =100 =25%
: ; 2,500
Percentage increase for operating expenses = % 000 »100 = 10%
’ 7.500
Percentage increase for profit before tax = » 100 = 50%
15,000
. . 2250 _
Percentage increase for income for Income tax = ﬁlﬂrlﬂlﬂ = 50
: 5250
Fercentage increase for profit after tax = T = 100 = 50%
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L0, Prepare commaon-size statement of financial position for the following particalars of Rani Led.

Solution :

Particulars .’—l“'Mart-:h. w6 | 3" Mm;:h. 216
[I EQUITY AND LIABILITIES
Shareholders™ Fund 540,000 | &, 40,000
MNon=current liahilities 2,70.000 | 2,50,000
Cuarrent liabilities 00,000 | 1,50.000
Total 4.00.000 | 10,00.000
|massexs 0 [ N
Mon-current assets 7.20.000 2 00000
Curtent assels 130,000 200,000
Taal 900,000 10,00,000

Commun-size balance sheet of Rani Lid for the vear ended

31* March, 2016 and 31* March, 2017

Absolute amount | Percentage of mlf Percentage
Particulars 2015-16 total asscls 1617 of total
ssel
7 7 7 e
I  Equity and Liabilitics
Share holder’s funds 540,000 & &,00,000 &0
MNom-current liabilities 2.70,000 an 2,50,000 g
Carrent liahilities 0,000 10 1,50,000 15
Total 9,000,006 00| 10.00,000 100
{11 Assets
Mon-current assets ; 720,000 &0 8,00,000 B
Current assets | 180,000 20 2.00,000 20
i 50000 | 100 | 1000010 100
Mot In 2015-16
. 5, 410, (0I
Percentage of sharcholders fund = —mﬁmﬂ':ﬁﬂ%
2,770,000
4 iahilities= ——— =100 =
Percentage of Non-current liabilities= 3.00.000 0%
g Q0,0
Percentage of current liabilities = 200000 # 100 = 10%
; 7.20,000
Percentage of non-current assets = m = 1M = 30%
1.80,000
Percentage of current assets = m x 100 =204
In 2016-17
Percentage of share holders fund = M w 100 = 6%
10,000,000
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1.

Percentage of Non-current liabilities =

2,50,000 o~ 25%

10,00,000
Percentage of current liabilities = 150,000 % 100 = 15%
10,00,000
Percentage of Non-current assets — 8,00,000 % 100 = 80%
10,00,000
Percentage of current assets = M w100 =20%
10,00,000
Prepare common-size statement of financial position for the following particulars of Yasmin Ltd. and
Sakthi Ltd.
Particulars Yasmin Ltd. Sakthi Ltd.
3 T
TIEQUITY AND LTABILITIES
1. Shareholders’ Fund
a) Share capital 2.00.000 3.00.000
b) Reserves and surplus 50,000 60.000
2. Non-current liabilities
Long-term borrowings 1.50.000 1.80.000
3. Current hiabilities
Trade payables 1.00.000 60.000
Total 5,00,000 6,00.000
IT ASSETS
1. Non-current assets
a) Fixed assets 2.00.000 3,00.000
b) Non - current investments 50,000 1,20.000
2. Current assets
Inventories 2.00,0000 00.000
Cash and cash equivalents 50.000 90.000
Total 5.00.000 6.00.000
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Selution :

Common-size balance sheet of Yasmin Ltd and Sakthi Ltd

Yasmin Ltd Sakthi Ltd
Particulars Absolute =S Absolute Percentage
amount g Amount of total
total assets
4 4 assets
I  Equity and liabilities
1. Shares holder’s fund
a. Share capital 2,00,000 40 3,00,000 50
b. Reserve and surplus 50,000 10 60,000 10
2. Non-current liabilities
Long-term borrowings 1,50,000 30 1,80,000 30
3. Current liabilities
Trade payables 1,00,000 20 60,000 10
Total 5,00,000 100 6,00,000 100
II. Assets
1. Non-current assets
a. Fixed assets 2,00,000 40 3,00,000 50
b. Non - current investments 50,000 10 1,20,000 20
2. Current assets
Inventories 2,00,000 40 90,000 15
Cash and cash equivalents 50,000 10 90,000 15
Total 5,00,000 100 6,00,000 100
Note: Yasmin Ltd. . 2,00,000
Percentage of Share capital = —X100 =40%
5,00,000
50,000
Percentage of Reserves and surplus = ———X100 =10%
5,00,000
1,50,000
Percentage of Long-term borrowing = —— %100 =30%
5,00,000
P f Trad bl I < v00 20%
t =7 2 AT AT LI L
ercentage of Trade payables 500,000
P f fixed S, * 100 = 40%
ta i — T T =
ercentage o assets .00,000
P t fN ti i £ 2= Mxlm—m%
ercentage of Non-current investment = 5.00,000 =
Pencsitige of Hiventas _ B00000 60 _ g0
ercentage of inventories = 50,000 =
P f cash and cash equival 20,000 , 100 10%
t ts = R =
ercentage of cash and cash equivalents 5.00,000 )
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Note: Sakthi Ltd.

Percentage of Share capital

Percentage of Reserves and surplus

Percentage of Long-term borrowing

Percentage of Trade payables

Percentage of fixed assets

Percentage of Non-current investment

Percentage of Inventories

Percentage of cash and cash equivalents =

Trend analysis :

3,00,000

= mxll}ﬂ = 501%
= %xmﬂ = 10%
= %Xlﬂﬂ =30%
= %xmn - 10%
= %xmﬂ = 50%
= —;jﬁ:gﬁg x 100 =20%
= %xlﬂn —15%

20

12. From the following particulars, calculate the trend percentages of Kala Ltd.

Solution :

T in thousands
Particulars
2015-16 2016-17 2017-18

Revenue from operations 400 500 600

Other income 100 150 200

Expenses 200 290 350

Trend analysis for kala ltd
. T in thousands Trends percentage
Particulars
2015-16 2016-17 2017-18 | 2015-16 | 2016-17 | 2017-18
Revenue from operations 400 500 600 100 125 150
Add : Other income 100 150 200 100 150 200
Total revenue 500 650 800 100 130 160
Less : Expenses 200 290 350 100 145 175
Profit after tax 300 360 450 100 120 150
Note: 2016 - 17.
500

Percentage for Revenue from operations

Percentage of other income

Percentage of total revenue

= —x100 =125%
400

150

= —— x 100 = 150%
100

650
500

= % 100 = 130%
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Percentage for expenses = E x 100 = 145%
Sk
360

Percentage for profit before tax = s w100 = 120%

In 2007 - 18, 00

Percentage for revenue from operations = 00 = 100 = 150%
2k

Percentage for other income = ﬁm{m = 2M1%

L

Percentage of total revenue = ——x 100 = 160%
= |
350
Percentage [or expenses = —x100 =175%
200
: 450
Percentage for profit before tax = I = 100 = 150%

13. From the following particulars, calculate the Trend percentages of Kavitha Lid.

Percentage of other income

25
= *x100 = 125%

Pastical T in thousands
015-16 2016-17 2017-18

Fevenue from operations 100 125 150

Other income 0| 15 0

Expenses 100 | 120 ED

Income Tax 0% 30% 30

Solution
Trend amalysis for Kavitha Tid
Pirticular ¥ in thousands Trends percentage
2015-16 2016-17 2017-18 | 2015-16 | 2016-17 | 2017-18
Revenue from operations 1400 125 150 1K 125 150
Add : Other income 0 25 30 100 125 150
Total revenue 120 150 150 10 125 150
Less ;: Expenses 100 120 a0 104} 120 B0
Project before tax 20 a0 100 100 150 500
Less Income tax (30%) & 9 30 100 150 500
| Profit afier tax 14 = 100 150 500
Mnte: 2016- 17,
: 125

Percentage for Revenue from operations = e % 100 = 125%
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Percentage of total revenue

Percentage for expenses

Percentage for before tax

Percentage for profit before tax

In 2017 - 18.

Percentage for revenue from operations =

Percentage for other income
Percentape of total revenue

Percentage for expenses

Percentape for proht before tax

Percentage for profit after tax

14. From the following particulars, calculate the trend percentages of Kumar Lid.

120 . 100 = 120%
100
30 100 = 150%
20
21
225100 = 150%
14
130 . 100 = 150%
100
35
2 100 = 125%
20
180 . 100 = 150%
120
50 100 = s0%
10D
E:-:IEI'IZI' = S00%
20
70
%100 = 500%
14

T in thousands
LA s WI5-16 | 2001617 | 2017-18
Revenue from operations 300 270 150
Orher income 30 a0 G
Expenses 250 200 125
[ Income Tax 40 40 | A0
Soletion ;
Frend uJ:._L_I_El_.*- for Boomuar lid B )
i ¥ in thousands Trends percentage |
Particulars
2015-16 2016-17 2017-18 2005-16 | 2016-17 | 20017-18 |
Revenue from operations 300 270 150 1) &4 50 |
Add : Other income 50 A0 i) 100 i60 120
350 | 350 210 | 100 100 )
ik Ferpciace 250 200 125 | 110 810 50
Profit hefore tax 100 150 B5 100 150 85
Less Income tax (40%) 40 &0 34 100 150 85
| Profit after tax 60 | 90 51| 100 150 85
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Mlode: 2006 - 17, 0
Percentage for Revenue from aperation = ﬁ‘:{lﬂﬂ = 00

Bl

Percentage of other income = * 100 = 160%
200

Percentage for expenses = =g %100 = 80%
150

Percentage for before tax = ﬁ}(]ﬂﬂ = 150%

Percentage for profit after tax = % % 10} = 150%

In 2017 - 18, 150

Percentage for revenue from operations = 0 = 100 = 50

Percentage for other income = = * 100 =120%
125

Percentage for expenses = ﬁ 1) = B5%
RS

Percentage for profit before tax = o * 104 = E5%

. 34
Percentage for income tax 40% = i = 100 = 85%

15. From the following particulars, calculate the trend percentages of Anu Lid.

- ¥ in thousands |
Hnicens Yuur] | YamrZ | Yomic3
I EQUITY AND LIABILITIES
Sharcholders® Fund 00 &50 Ll i]1]
Non=current liabalities 200 250 240
Current liabilities 100 B 120
Total 00| 880|960
IT ASSETS
Mon=ciuTent assets B0 720 TED
Current assets 060 140 180
Total 800 | BEO Q60 |




Solution :

16.

Trend analysis for Anu Ltd

) ¥ in thousands Trends percentage
Particulars
Year 1 Year 2 Year 3 Year 1 Year 2 Year 3
I Equity and liabilities
Shares holder’s fund 500 550 600 100 110 120
Non-current liabilities 200 250 240 100 125 120
Current liabilities 100 80 120 100 30 120
Total 800 880 960 100 110 120
II. Assets
Non-current assets 600 720 780 100 120 130
Current assets 200 100 180 100 80 90
Total 800 880 960 100 110 120
From the following particulars, calculate the trend percentages of Babu Ltd.
Particulars % in thousands
Year 1 Year 2 Year 3
I EQUITY AND LIABILITIES
1.  Shareholders’ Fund
a) Share capital 100 127 106
b) Reserves and surplus 30 30 45
2.  Non-current liabilities
Long-term borrowings 70 77 84
3. Current liabilities
Trade payables 20 30 40
Total 220 264 275
II ASSETS
1. Non-current assets
a) Fixed assets 100 118 103
b) Non - current investments 40 50 60
2. Current assets
Inventories 60 66 72
Cash and cash equivalents 20 30 40
Total 220 264 274
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Selution »

Trends analysis for Babu lud

. ¥ in thousands Trends percentage
Particular -
Year 1 Year 2 | Year 3 Year 1 Year 2 Year 3
I  Equity and liabilities
1. Shareholder’s fund
a. Share capital 100 127 106 L0 127 106
h. Heserve and surplus 3n 30 45 1040 100 150
2.  Non-current liabilities
Long-term borrowings 70 77 B4 1{K0 110 120
3. Current liabilities
Trade payables 20 30 40 100 150 200
Total 220 264 275 11¥0 120 125
II. Assets
1. HNMon-current assets
a. Fixed assets 100 118 103 L0 113 103
h. Non -investment 40 ol L) LT 125 150
2. Current assets
Inventories &0 (] T2 100 110 120
Cash and cash equivalents 20 30 40 1M 150 200
Total 220 264 | 275 100 120 125

56



UNIT 9 RATIO ANALYSIS

MurrirLe CHocr QUESTIONS

CHOOSE THE CORRECT ANSWER

The mathematical expression that provides
a measure of the relationship between two
figures is called
{a) Condusion
(e} Model

{b} Ratio
{d} Decision
[Ans. (b) Hatio]
Current ratio indicates
{a) Ability to meet short term obligations
(b} Efficiency of management
{e} Profitability
{d) Longterm solvency [ Ans, (a) Ability to

meet short term obligations]

Current  assets  excluding inventory and

prepaid expenses is called

(a}) Reserves {b) Tangible assets

{c} Fonds (d} Quick asseis
[Ans. [d) Quick assets]

£n

Deht equity ratio is a measure of
(a) Short term solvency

(b) Long term solvency

{c} Profitability
(d) Efficiency

[Ans. (b) Long term solvency|

Match List I with List 11 and select the correct L
answer using the codes given below:

List 1

(il | Current ratioc | 1.

~ Listnl
Liguidity

it} | Net profit ratio -‘_'bﬁm ey
i) Debt-equity 3.

Long term sl:-lvenv:y"

ratio ||
(iv} | Inventory |4, Profitability
Turnover
ratin [
Cogles :
(i) (L) fid) iv)
(ay 1 4 3 2
by 3 2z 4 1
© 4 3 2 1
d) 1 2 3 4

[Ans. (a) (§}-1. (iid-4, C(Ei)-3, (iv)-2)
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T test the J.iqu.idil.}' of o concern, which of the
following ratios are useful?

(i)  Ouick ratio

(i} MNet pmﬁt ralio

(iii) Debt-equity ratio

(iv) Current ratio

Select the correct answer using the codes given

below:
{a) (i) and (i)
{c) (i) and (iii)

(b} (i) and (iv)
{d} (i) and (iv]

[Ans {b) (i) and {iv)]

Proportion of share holder's funds to total
assets is called

(a) Proprictary ratio

(b} Capital gearing ratio

{c) Debt equity ratio

{(d) Current ratio  [Ans. (a) Proprictury mitio|

Which one of the following is not correctly
matched?

{a) | Liguid ratio —_|"Pr1:|p{-r=tis:un

(b} | Gross profit ratio | - I Percentage

(c) | Fixed assets __| Percentage
lurnover ratio |

[d) Deh-t-e_qun'!.-mm - |Pn:|pnrtinn e

10. Cost

[Anz, (¢} Fixed assets twrnover rafio -
Percentune]

Current liabilities 40,000; Current assets

T1,00,000; Inventory T20,000. Craick ratio is

Hiret :

(@) 1:1 (b} 2.5:10  (e) 21 {d) 1:2
[ Ams. {c} 2:1]
e : Ok assets
wick ratic = :
Q Current liabilitics
Quick assets = Total current assets - Inventories
- prepaid expenses.
= 1,00, 000 — 20,000 - 0
= 80,000
Current liabilities = 40,000
iy - B0 Q00 _i
4 Quick ratio = 30.000 -
of revemue from  operations

T 3,00,000; Inventory in the beginning of the
ear ¥ 60,000k Inventory at the close of the year
40,004, Inventory turmover ratio is

(@) 2 times (b} 3 times
(¢} 6 tirmes {d) 8times

[ Ans ()b times]

Hint

11

Ans.

Ans

Ans.

Inventory turnover ratio
Cost of revenue from operations

Average mventory
Cost of revenue from operations = ¥ 300,000
Average mventory
Opening inventory + Closme mventory

-
-

&0, 000+ 40, D
= 3 = 50, (WM
O 300000
SArventory turnover rafio = —Sﬂiﬂﬂﬂ = H times

VERY SHORT ANSWER QUESTIONS :

What is meant by accounting ratios?

(i) Ratio i a mathematical expression of
relationship between two related or
interdependent items.

It s the numerical or Quantitative
relationship between two items

It is calculated by dividing one item by the
other related item.

When ratios are calculated on the basis of
accounting information, these are called
Accounting ratlos,

What is quick ratio?

(i) Quick ratio gives the propartion of quick
assels to current liabilities:

It indicates whether the business concern
is in a position to pay its current liabilities
as and when they become due, out of its
quick assets,

It s otherwise called liquid ratio or acid
test ratio

It 1s caloulabed as follows:
Chuick assets
Current liabilities

i)
TN

()

(T}

v

Quick raio =

What ks meant by debt equity ratio?

(i) Debt equity ratio is calculated to assess the
long term solvency position of a business
LT,

Diebt equity ratio expresses the relationship
between long term debt and shareholders”

(i)

funds.
(Gi) It is computed as folbows:
Dbt equity ratio = vl Gepes-debl
Sharcholders funds



Ans,

Ans,

11l

Ans.

Ans,

What does refurn on investment ratio indicata?

fi* Returm om  iovestment  shows  the
proportion of net profit before interest
and tax to capital employed (sharcholders’
funds and long term debts).

This ratin measures how efficiently the
capital employed is used in the business.
It is an overall measure of profitability of a
business concern.

It is computed as below:

Return on Imvrestment { ROL)

_ Net profit before mterest and tax

Camtal employed
State any two Lmitations of ratio analysis.

{in}

[idi)

{iv)

EatiH

(i}  Ratiosareonly means : Ratios are not end
in themselves but they are only means to
achieve a particular purpose.

(ii} Accuracy of hnancial information :
The accuracy of a ratio depends on the
accuracy of information taken from
financial statements.

SHORT ANSWER QUESTIDNS

Explain the objectives of ratio analysis.

Following are the nhjectives of ratio analysis
{1}

(i1}
(i)

To simplify accounting figures
To facilitate analysis of financial statement s

To anatyse the operational efficiency of a
brssiness

{iv) To help in budgeting and forecasting
(vl To facilitate intra firm and inter firm
comparison of performance

What is inventory conversion period? How to
calculated it?

(i} Inventory conversion period iz the time
taken to sell the inventory.

(il A  shorter inventory  conversion
period indicates maore efficiency in the
management of inventory.
It iz computed as follows ;
Inventory conversion period (in days)
_ Number of days in a year
Inventory turnover ratio

(i)

Inventory conversion period (in months)

_ Number of month in a year
[nventory tumover ratio

.

Ans,

Ans.

A,

How is operating profit ascertained?

() ﬂ'peraljng profit ratio gives the proportion
of operating profit to revenue from

operations,

Operating profit ratio is an indicator of

operational efficiency of an organisation.

It may be computed as follows:

Operating profit ratio

Operating profit %100
~ Revenue from operations
Alternatively, it 15 calculated as under.
Operating profit ratio = 100 — Operating
cost ratio

Operating profit = Revenue from
operations - Operating cost
A higher ratio indicates better profitability.
Gireater the operting ratio, higher is the
margin available for payving non-operating
EXpenses.
State any three advantages of ratio analysis.
Fusblorw P Are the wiibages of matio analvsis:

(i)

[l

iiv)

|'|.'||:".|.l!.||r|r|l.l_ |11'|i'r.1riu-r|.|| effictend o2
Ratio analysis helps to know operational
efficiency of a business by finding the
refationship between operating cost
and revenues and alse by comparison of
present ratios with those of the past ratios.
Facilitating investment decisions ; Ratio
analysis helps the management in making
effective decisions re ing prof
avenues of investment,

Analvsing the profitability : Eatic analysis
helps to analyse the profitability of a
business in terms of sales and investments.

(1)

[ iii}

Bring out the limitations of ratio analysis.
Followi ng are the Bimitat boms of ratio .||:.|ij|. ] Lo

(1) Accoracy of hnancial information
The accuracy of a ratio depends on the
accuracy of information taken from
financial statements.

Consistency in preparation of hinancial
statements : Inter-firm comparisons with
the help of ratio analysis will be meanin
only it'FIhe firms follow uniform accnunfg
procedures consistently.

Naon-availability of standards or norms :
Ratios will be meaningful only if they
are compared with accepted standards
or norms. Only few financial ratios have
universally recognised standards.

Change in price level : Ratio analysis
may not ref;ect price level changes and
current values as they are calculated
based on historical data given in financial
statements.

(i)

(i)

Lv]
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IV EXERCISES
Liguidity ratios

I.  Calculate the current ratio from the following information.

Particulars | 4 | — Particulors - _E__ ]
Current investments 40000 | Fixed assets R LR TH]
Inventories 200,000 | Trade creditors B, 00
Trade debtors 120,080 | Bills payable 50,000
Bills receivable B0 | Expenses payable 20,000
Cash and cash equivalents HLKKY | Mon-current liability 3,000,000
Loluiion ;
Current ratio = £ tl i
Current liabilities
Current assets = Current investments + Inventories + Bills receivables + Trade debtors + Cash and

cash equivalents
TA0,0060 + F2,00,0000 + FT1200000 + F20,0060 4+ F10,000
T, 50,00

Current liabilities = Trade creditors + Bills payable + Expenses payable
= TR0, + 20,000 + T2, 000 = TL0,000
4,50,000 3
Current ratio = m =37

2. Calculate quick ratio: Total current liabilities T 2,40,000; Total current assets ¥ 4,50,000; [nventorics
T 70,000; Prepaid expenses T 20,000

Solulion ;
; g Ouick assets
ck = .
Qi ot Current lighilities
Juick assets = Current assets - [nventories - Prepaid expenses
= R4 SL000 + 70000 — T20,0:00
= T3,60,000
3, 60, (D
Quick ratio = m= 1.5:1
4.  Following is the halfp_c.f_shut of Lakshmi Lul as on 31* March, 2019:
i Particulars 4
L EQUITY AND LTABTLITIES
1. Shareholders’ funds
Equity share capital 4,000,000
Y Nop-cwrrent Hakbdlities
Long term borrowings 2,00,000
3. Current liabilities
{a) Short-term borrowings 50,000
{b) Trade payables 3, 10,000
{c] Other current liabilities
Expenses payable 15,000
__(d} Short-term pravisions 25,000
| Tastal 10,00, 0040 |
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Particulars 4
II. ASSETS
1. Non-current assets
(a) Fixed assets 4,00,000
Tangible assets
2. Current assets
(a) Inventories 1,60,000
(b) Trade debtors 3,20,000
(c) Cash and cash equivalents 80,000
(d) Other current assets
Prepaid expenses 40,000
Total 10,00,000
Calculate:
(i)  Current ratio (ii)  Quick ratio
Solution ;

Current assets
Current liabilities
Current assets = Inventories + Trade debtors + Cash and cash equivalents + Prepaid expenses
= <*1,60,0,000 +¥3,20,000 + T80,000 + ¥40,000 = T6,00,000
Current liabilities = Short term borrowings + Trade payables + Expenses payable +
Short term provisions
= ¥50,000 + ¥3,10,000 + ¥15,000 + ¥25,000 = T4,00,000
Current ratio = S0, 15:8
4,00,000
Quick assets
Current liabilities

(i) Current ratio =

(ii) Quick ratio =

Quick assets = Current assets — Inventories — Prepaid expenses
= %6,00,000 - ¥1,60,000 — ¥40,000 = ¥4,00,000
4.00.
Quick ratio ﬂ=]:]
4,00,000

Long term solvency ratios
4.  From the following information calculate debt equity ratio.

Balance Sheet (Extract) as on 31st March, 2019

Particulars Am;unt
I. EQUITY AND LIABILITIES
1. Shareholders® funds
(a) Share capital
Equity share capital 6,00,000
(b) Reserves and surplus 2,00,000
2. Non-current liabilities
Long-term borrowings (Debentures) 6,00,000
3. Current liabilities
(a) Trade payables 1,60,000
(b) Other current liabilities
Outstanding expenses 40,000
Total 16,00,000
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Solution :

X i ) - Long term debt
ST REY S opareholdery Ronds
Long term debt = Debentures

= ¥6,00,000
Sharcholders funds = Equity share capital + Reserves and surplus
= 600,000 + F2,00,000 = T8,00,000
6, 00, 000

—————=fL T3l
&, 00, 000

£ Diebit equity rafio

En

From the following Balance Sheet of Sundaram Ltd. calculate proprietary ratio:
HBalance sheet of Sundaram Lrd, as on 31.3.2019

Purticulurs ““‘;‘”"
L. EQUITY AND LIABILITIES
1 : 1. Shareholders” tunds
{a) Share capital
(i) Equity share capital 250,000
(ii} Preference share capital 150,000
| (b} Reservesand surplus 0,000
[ 2, Man-corrent labilities
Long term borrowings
_ [ 3. Corrent liahiliries
. Trade payables _ 1,50,000
| Total &, (), THM)
[II. ASSETS
; 1, "-.ﬁ].'ln-i"l.ll"l'll'l'lt assets
| {a) Fixed assets 4,650,000
| (b} Non-current investments 100,000
| 2. Current assets
Cash and cash equivalents 40,000
| Total [ 600,000 |

Solution :

Shareholder's funds
Tuotal assets

Proprietary ratio

Shareholders funds = Equity share capital + Preference share capital + Reserves and surplus
= T250,000 + 1,350,000 + 50,000 = T4,50,000

Total assets = 6,000,000

. Proprietary ratio = oLl ={.75:1

6,00,000



UNIT 10 COMPUTERISED ACCOUNTING SYSTEM - TALLY

1

MurrrrLe CroICE QUESTIONS

(CHOOSE THE CORRECT ANSWER

1.

Accounting report prepared according to the
requirements of the user is

{a} Routine accounting report
(b) Special purpose report
(c} Trial balance
(d) Balance sheet

Ans. (b Special purpose report|
Function key F11 is used for
fa) Company Features
(h) Accounting vouchers
() Company Configuration
id} None of these

[Ans, (a) Company Features|

Which submenn displays groups, ledgers and
voucher types in Tallv?

{a} Inventory vouchers

(h) Accounting vouchers

{c] Company Info

(d} Account Info [Ans (d) Acconnt Info|

=N

What are the predefined Ledger(s) in Tallv?
(i} Cash

{ii) Proht & Loss Alc
(iii) Capital A/c

(a) Only (i)

(c) Both (i) and (ii)

(b} Only (i)

(d} Both (i1} and {iii}
| Ams. (¢} Both (1) and [55)
Contra voucher is used for
(a) Master entry
{b) Withdrawal of cash from bank for office use
(c] Reports
(d) Credit purchase of assets
| Ans. (b} Withdrowal of cash from bank for

oflice use

Which is not the default group in Tally?
[a) Suspense acoount
(b) Outstanding expense
{c) Sales account
() Tnvestments
[ Aris. () Dutslanding expense]

Salary account comes under which of the
following head?

(a] Dhirect Incomes
(h) Direct Expenses
{c) Indirect Incomes
(d} Indirect Expenses

[Ans, (d) Indirect Expenses
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10.

II

Ans,

Ans,

Ans,

225,000 withdrawn from bank for office use.
In which voucher type, this transaction will be

recorded
(a) Contra Voucher (b) Receipt Voucher
(d) Sales Voucher

[Ans. (a) Contra Voucher|

(c) Payment Voucher

In which voucher type credit purchase of
furniture is recorded in Tally

(b) Journal voucher

(d) Payment voucher

(a) Receipt voucher
(c) Purchase voucher
[Ans. (b) Journal voucher]

Which of the following options is used to view

Trial Balance from Gateway of Tally?

(a) Gateway of Tally -> Reports -> Trial Balance

(b) Gateway of Tally -> Trial Balance

(c) Gateway of Tally -> Reports -> Display ->

Trial Balance

(d) None of these [Ans. (c) Gateway of Tally

-> Reports -> Display -> Trial Balance]

VERY SHORT ANSWER QUESTIONS

What is automated accounting system?
(i) Automated accounting is an approach to
maintain up-to-date accounting records
with the aid of accounting software.

(ii)  Under manual accounting system entries
are made in different books of accounts
while accounting software packages
sallow manual entry in one field or one

place.

What are accounting reports?

Accounting report is a compilation of
accounting information that are derived from
the accounting records of a business concern.
Accounting reports may be classified as routine
reports and special purpose reports.

State any five accounting reports.
Routine accounting reports include
(a) Day books / Journal
(b) Ledger
(c)  Trial balance
(d) Income statement
(¢)  Balance sheet
Cash flow statement

(f)

Ans.

Ans,

111

Ans.

Ans.

What is Accounting Information System
(AIS)?

Accounting Information System (AIS) collects
financial data, processes them and provides
information to the various users. To provide
information AIS requires data from other
information system that is manufacturing,
marketing and human resources.

What is a group in Tally.ERP 9?2

In 2009, Tally Solutions introduced the software
Tally.ERP 9. The software offers comprehensive
business management solution. It maintains all
books of accounts. Different types of vouchers
such as vouchers for receipt, payment, sales,
purchases, etc., can be used for recording
transactions.

SHORT ANSWER QUESTIONS

Write a brief note on accounting vouchers.
This type of a voucher basically analyses a
business transaction from the accounting stand
point and is used for recording purposes

These are commonly prepared by accountants
on the basis of supporting vouchers and
approved by a different individual. They are
further subdivided into two, Cash and Non-cash
vouchers.

Examples of cash type :

1. Credit Vouchers

2. Debit Vouchers

Examples of the Non-cash type :

1.  Debit note

2. Credit note

3

Invoice

What are the pre-defined ledgers available in
Tally. ERP 97

In Tally, to record transactions, the transactions
are to be identified with the related ledger
accounts. In Tally ERP 9, there are two types of
pre. defined ledgers.

(i)  Cash : Under the group cash-in-hand this
ledger is created, you can enter the opening
balance as on the books beginning from.
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Profil amidd loss account @ This lﬁig.ﬂf ;
is created under the group primary. In
this ledger previous years profit or loss | Ans.
is entered as the opening balance of this

ledger,

Tor create ledger

Gateway of Tally —sMasters =
Accounts Info > Ledgers >
mingle Ledger = create

Mention the commonly used voucher types in
Tally. ERP 9.,

Following are some of the major accounting
vouchers used in an organisation:

1)
iE51
(wik)
LEv)
(v}

fwil

Receipt Voucher
Payment Voucher
Contra Voucher
Purchase Woucher
Sales Vioucher
Journal Voucher

d.  Explain how to view profit and loss statement in Tally. ERP 9 ¥

Ans, o view Profit and Loss Account

F10: Ajc Reports = Profit & Loss Ajdc = Alt F1 {detailed)
{or)
Gateway of Tally > Reports > Profit 8& Loss Afc > Ali Fl (detailed)

FETIRE dlaln

i o w
T ad

i PR T

Profit and Loss Account

o, Explain any five applications of computerised
accounting system.

Ans. The erlu.'.lriuuh il CAS are as |.I.i"l.l1-l|.'-| i

{iL)

Maintaining accouniing records ;
In CAS, accounting records can be

maintained easily and efficiently for long
time period. It facilitates fast and accurate

reirieval of data and information,

J myvyntor Y IMAIAEY et

CAS facilitates efficient management of
inventory, Updated information about
availability of inventory, level of inventory,
etr., can be obtained instantly.

L)

v

Repisrt geaeraliom ;

CAS helps to generate various routine and
special purpose reports,

Dhata bmport!export :

Accounting data and information can be
impaorted from or exported to other users
within the organisation as well as outside
the organisation.

Taxation:

CAS helps to compube varows taxes and
to deduct these and deposit the same to
the Government acoount,
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IV EXERCISES

1. Record the following transactions in Tally.

(a)
(b)
(c)
(d)
(e)
(f)
(g)

Devi commenced a business with a capital of ¥4,00,000

An account was opened with Indian Bank and deposited 360,000
Purchased furniture by paying cash ¥ 15,000

Goods purchased on credit from Sumathy for ¥ 50,000

Cash sales made for ¥10,000

Goods purchased from Raja for 5,000 and paid by cheque
Goods sold to Arun on credit for 70,000

(h) Money withdrawn from bank for office use 25,000
(i)  Part payment of ¥ 30,000 made to Sumathy by cheque
(j)  Arun made part payment of ¥ 10,000 by cash
(k) Salaries paid to staff through ECS ¥ 36,000
(I)  Carriage on purchases of T 6,000 paid by cash
(m) Purchased computer from Muthu Ltd. on credit ¥ 44,000.
Solution :
Analysis of transactions, passing journal entries, identification of voucher
S.NO. Particulars D%bit Cr;dit Voucher type Group
(a) | CashA/c Dr. | 4,00,000 Receipt Cash-in-Hand
To Devi’s Capital A/c 4,00,000 Voucher Capital Account
(b) | Indian Bank A/c Dr. 60,000 Contra Bank Accounts
To Cash A/c 60,000 Voucher Cash-in-Hand
(¢) | Furniture A/c Dr.| 15,000 Payment Fixed Assets
To Cash A/c 15,000 Voucher Cash-in-Hand
(d) | Purchases A/c Dr.| 50,000 Purchase Purchase Accounts
To Sumathy A/c 50,000 Voucher Sundry Creditors
(e) Cash A/c Dr. 10,000 Sales Cash-in-Hand
To Sales A/c 10,000 Voucher Sales Accounts
(f) | Purchases A/c Dr. 5,000 Purchase Purchase Accounts
To Cash A/c 5,000 Voucher Cash-in-Hand
(g) |ArunA/c Dr.| 70,000 Sales Sundry Debtors
To Sales A/c 70,000 Voucher Sales Accounts
(h) | CashA/c Dr. 25,000 Contra Cash-in-Hand
To Bank A/c 25,000 Voucher Bank Accounts
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(1) | Sumathy Adc Dre| 30,000 Payment Sundry Creditors
To Bank AJc 30,000 Voucher Bank Accounts
i) [Cash Afe D, 140, 000 Receipt Cash-in-Hand
Ta Arun Afc 100, (0K Voucher Sundry Debtors
(ki | Salaries AJc Dr.| 36000 Payment Indirect Expenses
To Bank AJc 36,000 Voucher Bank Accounts
(I} |Carriage Alc Dr 6,000 Payment Direct Expenses
To Cash A/c i, (00 Voucher Cash-in-Hand
(m) | Computer ASc Dr 44 0063 Tournal Indirect Expenses
To Muthu Lid Alc 44,000 Voucher Sundry Creditors
2. The following balance sheet has been prepared from the books of Pearl on 1-4-2018.
Liabilities [ Assels o
Capital 160,000 | Buildings | 40,000
Sundry creditors: | Furniture [ 20,000
Maya Afc 20,000 | Stock | 10,000
| Sumdry debtors
Peter | 20, 0:000
| Cash in hand | 30,0400
| Cash at bank B0,
80000 | | 1,80,000

During the vear the following iransactions took place,
(a)  Wages paid by cash ¥ 4,000
(b) Salaries paid by cheque £ 10,000
(c)]  Cash purchases made for ¥ 4,000
(d) Good purchased on credit from Yazhini ¥ 30,000
le}] Goodssold oncredit to Jothi T 40,000
(f]  Payment made to Yazhini through NEFT T 6,000
(g)  Cash received from Peter T 10,000
(h) Cash sales made for T 4,000
(i} Depreciate buildings at 207
(j}  Closing stock on 31.03.2019 ¥ 9,000
Yoo are required to prepare trading and profit and loss account for the year ended
31-03-2019 and a balance sheet ax on that date using Tally.
Sodution ; Following steps are to be followed to enter the transactions in Tally ERP 9
1. o create company : Company [nfo > Create Company
Type the Name as Peral and keep all other fields as they are and choose “Yes" to accept.

[ 3]

T mammtain accounts only
Gateway of Tally > F11 Accounting Features > General > Maintain accounts only: Yes > Accept Yes
3. [ty create |I."I.|H,l.'1' pocounts with opening balances 1

Gateway of Tally > Masters > Accounts Info > Ledgers > Single Ledger > Create
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Creation of Name Under Opening balance | Accept
Pearl’s Capital A/c Pearl’s Capital A/c | Capital Account 1,60,000 Yes
Maya A/c (Sundry creditors) | Maya A/c Sundry Creditors 20,000 Yes
Buildings A/c Buildings A/c Fixed Assets 40,000 Yes
Furnitures Afc Furnitures Afc Fixed Assets 20,000 Yes
Opening stock Opening stock Stock-in-Hand 10,000 Yes
Peter A/c (Sundry debtors) Peter A/c Sundry Debtors 20,000 Yes
Cash in hand Cash Cash-in-Hand 30,000 Yes
Cast at bank Bank Bank Accounts 60,000 Yes

]

by altering the cash account.

To record the opening balance of cash : Gateway of Tally > Masters > Accounts Info > Ledgers >

Ledger > Alter

‘Cpaning Naimacs | oo 1 A002018) -

Tadfy WA -+ Safway ol Ty = Aogoumi T - Lisbpat— Ledger Crastins

CREATION OF PEARL CAPITAL A/C
NOTE : Cash account need not be created as it is a default ledger. Only the opening balance has to be recorded

| jj- Cordial Custrn :|T|mnr.|n:_-| r'm':

Wed 5 M WLE  TRDGE
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